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1. OMUC HABYAJILHOI JUCLHUATIJITHA

Merta

MeTta BUBYEHHS 1HO3€MHOI MOBM Y HEMOBHOMY BY31 —
HiArOTYBATH CTYJIEHTA /10 YATAHHS aHTJIOMOBHOI JIITEpaTypH 3a
daxom, CIIJIKYBaHHS aHTJIIHCHKOIO MOBOIO B PI3HHX BHIAX
MOBHOI JiSNIBHOCTi, MOXJIMBOCTI BHKOPUCTAHHS aHTJIIACHKOI
MOBH Y IPAKTHYHUX LILISAX.

KoMmrieTeHTHICTD

E: 3K4 3paTHICTh CHIIKYBaTHUCSA 3 MPEACTAaBHUKAMH 1HIITHX
npodecifHUX Tpyn pi3HOTO PIBHA (3 €KCHepTaMu 3 IHIIHX
rajxy3ei 3HaHb/BUIIB €EKOHOMIYHOI TisLTBHOCTI)

Bb: K01 wmox 1 3xpatHicTh 3A1MCHIOBATH YHTAHHA 1
OCMHUCJIEHHS TPodeciiiHO OpIEHTOBAHOI Ta 3arajbHOHAYKOBOI
IHIIIOMOBHOI JTITepaTypH, BUKOPHCTAHHSA Ii y COIIaJbHIA Ta
npodeciiiHiii chepax.

BB:K01 wmox 2 3akoHOMiIpHOCTEHl aHTIIHCHKOI MOBH Y
CITIBCTABJICHHI 11 3 IJIOBOIO YKPATHCHKOIO MOBOIO.

Pesynberar
HaBYaHHS

E: PO3 BinbHO crunkyBaTucs 3 Npo@eciiHuX Ta HayKOBUX
MUTaHb JIEPKABHOIO Ta 1HO3EMHOIO MOBAMH YCHO 1 MUCHMOBO.
Bb: P0101 3a BupoOHMYMX YyMOB, Ha OCHOBI JIEKCHUKO-
rpaMaTUYHOTO  MIHIMyMY, KOPHUCTYIOUUCh  MPOQeECiiiHO
Op1EHTOBAaHUMU IHIITOMOBHUMU (IpyxoBaHUMU Ta
CJICKTPOHHUMHM) JDKEpeIaMHu, 3a JIOMOMOTOH BIIMOBITHUX
METO/IB 31ACHIOBATH O3HaloMmue, MOIIYKOBE Ta BUBYAIOYE
YUTaHHSI. AHAJIITUYHE OIMPALIOBAHHS 1HIIOMOBHHX JDKEpen 3
METOI0 OTPUMaHHsI 1H(popMaIlii, 110 HeoOXI1IHA SISl BUPIIICHHS
NEBHUX  3aBAaHb  Npo(deciiiHO-BUPOOHHYOI  JISIIBHOCTI;
MpaIoBaTH 3 KOHTPAKTaMH, pelli3aMu IPO TapTHEPCTBO,
pe3yapTaTaMu TAaTEHTHOTO TMOIIYKy, PEKIaMOK 3 METOI0
BPETYJIIOBaHHS BUPOOHUYUX IMUTAHD.

Bb: P0102 Bectu Oecimy Ha OCHOBI THIIOBHX CHUTYaIliid
JUJIOBOTO CHUIKYBaHHS, y 3B’S3Ky 3 TMpouYdTaHuM abo
MPOCITyXaHUM; POOUTH TIOBIOMJICHHS Ha OCHOBI THITOBHX
CUTyaIlli JIJOBOTO CHIJIKYBaHHS, a TaKOX BHUCJIOBJIIOBATHCS 3
NPUBOAY  TMPOYUTAHOTO abO0 MPOCIYXaHOTO; CAMOCTIMHO
YUTATH CYCHUIBHO-TIONITUYHI, HAYKOBO-TIOMYJSPHI TEKCTH, a
TakoX 3a (axoBy miTepaTypy; CHpUHAMATH Ha CIyX IMpHU
0e3rmocepeTHbOMY CHUIKYBaHHI Ta Y 3BYKO3alUCy TEKCTH
noOy/IoBaHI B OCHOBHOMY Ha 3aCBOEHOMY MOBHOMY MaTepiaJi.

ba3oBi 3HaHHSA

3HaTu;

1. I'pamatuyHi IpaBuiIa, TpaMaTHYHI KOHCTPYKIIIT 711 yCHOTO
Ta MMCHbMOBOT'O IIEPEKIIay aHTJIOMOBHUX TEKCTIB Ta
BUKJIay iH(MOpMAaIi;

2. JlekcuuHUW MIHIMYM OAMHMILH 3 TPOTPAMHUX TEM KYPCY.

ba3oBi BMiHHA

Bwmitu:
1. NOSICHIOBATH rpaMaTU4HI MPaBUIIA;
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2. BII3HABATH, PO3PI3HATH Ta MEpPEKIafaTH PI3HOMAHITHI
rpaMaTU4Hi KOHCTPYKIIIi;

3. PO3yMITH MOHOJIOTIYHI TOBIJOMJICHHS 3 3aCTOCYBaHHSIM
NEBHUX TPAMAaTUYHUX KOHCTPYKITIH;
4. 3aCTOCOBYBATH I'paMaTH4HI MTpaBHJia Ta KOHCTPYKIIIi B

NEepeKIIajli TeKCTIB, 11aJJOTIYHOMY MOBJICHHI Ta Ha MHCHMI.

ba3oBi HaBUYKH

1. BukopucToByBaTH TpaMaTU4HI MpaBWiIa I TepeKIaay
TEKCTIB 3 aHTIIMCHKOI MOBH Y MPAKTUYHUX ITIJIAX.

2. BxwuBaTH TpamMaTHYHI KOHCTPYKIIil B YCHOMY MOBJICHHI Ta
nepeKasi TeKCTiB 3 MPOrPaMHUX TEM Kypcy.

[ToB’s13ani
cusutadycu

«Ino3emHa mMoBa 3a mpodeciiiHuM CpsIMyBaHHAM» 2 P.H.

[Tonepenus
IUCIUIIIIHA

Hacrtynna
JUCIHUIUIIHA

KinpkicTs rogua

JICKIIIi:

npaktuyHi 3aHATTs: 60 y | cemectpi; 120 y I cemectpi
1abopaTopHI 3aHATTS:

CEMIHAPCHKI 3aHATTS:

camocTiitHa poboTa cTyneHTiB: /5y | cemectpi; 105 y 11
ceMecTpl

| cemecTp

2. MPOI'PAMA HABYAJIbHOI JUCHUILJITHU

2.2. Tlpaktani Moyl | cemectpy

Kon HazBa monynst ta tem KIHBKICTI’ TOAUH
aymutopHi | CPC
3M- 15 29
11 | 1. a) “Ecology”. 3 6
b) “Environmental Science” 4 6
¢) Grammar: Indefinite Tenses (active and passive) | 4 6
d) IMepexnan CycHiabHO-TOMITHYHOTO TEKCTY 3 6
(2500 ap. 3HaKIB)
2. MonynbpHa KOHTpoJIbHA poboTa Ne 1 1 5




aynutopis 607.;

607.

3M- 15 29
12 | 1. a) “Environment” 4 6
b) Ilepexiian cycniabHO-IOMITUYHOTO TEKCTY 3 6
(2500 mp. 3HAKIB)
¢) Grammar: Continuous Tenses (Active and 3 6
Passive)
d) ITepexman Tekcty 3a paxom (8000 ap. 3uakiB). |4 6
2. MonynbpHa KOHTposbHA poboTa Ne 2 1 5
3M- 13,5 26
I13 |1.a) Population Ecology. 4 7
b) Tlepeknan cyCHiIbHO-TIOTITHYHOTO TEKCTY 4,5 7
(2500 mp. 3HAKIB)
c) Grammar: Perfect Tenses (active and passive) 4 6
2. MonynpHa KOHTposIbHA poboTa Ne 3 1 6
3M- 16 29
[14 | 1.a) The Habitat. 4 6
b) IMepexiaz cycniibHO-OTITHYHOTO TEKCTY 4 6
(2500 nmp. 3HAKIB)
¢) Grammar: Perfect Continuous Tenses 3 6
d) IMepexman Tekcty 3a paxom (8000 ap. 3nakiB). |4 6
2. MonynpHa KOHTpoIbHa poboTa Ne 4 1 5
3M- | [TucemoBuii niepeKIIaa 2
I3
CemecTpoBa 3alikOBa KOHTPOJIbHA poOoTa 0,5 5
60 120
Pazowm:
KoncynpTarii:
1. II’snoBa I3abenna FOpiiBHa, k. (inos. Hayk, qoneHT, noHeaiok 9.00 — 13.00,

Kynenina Onbra FOpiiBHa, cT. Bukiamad, BiBTopok 9.00 — 13.00, aynuropis




2.3. CamocrTiiina poboTa cTyJieHTa Ta KOHTPOJIbH1 3axou y | cemectpi

Kon . KinpkicTh Ctpok
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX0/1H
MOTYJIS TOJIUH | IPOBEJCHHS
3M-II1 29 1-4
THXKJIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 7 2 THKIEHD
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMAIIIHBOTO YUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOIYJIBHOI 7 3 THOKIEHb
KOHTPOJBHOT po6oTu Ne 1 (060B’s3K0BE)
Konmponwvni 3axoou:
e YCHe onuTyBaHHS 6 3 THXIEHb
o [lepeBipka MMCbMOBO BUKOHAHUX CIIHCKIB 7 4 THKIEHb
HE3HAWOMHUX CJIIB Ta iX MepeKiaa sl yCHOTo
MepeKIaay TEKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHUX 2 4 TMKIEHB
rpaMaTUYHUX BIIPaB
e MonaynbpHa KOHTpOJIbHA pob6oTa Ne 1 4 THKICHD
3M-I12 29 5-8
TH)XIEHDb
e [limroroBka 110 YCHOI'O OIIMTYBaHHS, 7 6 TIKICHBb
M1JITOTOBKA TPaMaTUYHOI TEMH Ta M1ArOTOBKA
JIOMAIITHBOTO YUTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI 7 7 THXKICHDb
KOHTPOJIbHOT po0oTH Ne 2 (000B’SI3KOBE)
Konmponwvni 3axoou:
o YCHE ONMUTYBaHHS 6 [ THOKJIEHb
o [lepeBipka MMCHbMOBO BUKOHAHUX CIIUCKIB 7 8 THKIICHD
HE3HAHOMUX CIIIB Ta iX MepeKIIaj 1Isl YCHOTO
nepeKIaay TEKCTIB
« [TepeBipka MMCHMOBO BUKOHAHMX 2 8 THKIEHD
rpaMaTUYHUX BIIPaB
e MoaynbpHa KOHTpOJIbHA poboTa No 2 8 THXKICHDb
3M-II3 26 9-12
TH)XIEHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 6 10 TxKIEeHb
M1rOTOBKA rpaMaTUYHOI TEMH Ta MiATOTOBKA
JIOMAIITHBOTO YU TAHHS
e [linroTOBKA JO BUKOHAHHS MOTYIHHOL 6 11 Tmoxnens
KOHTPOJIbHOT poO6oTH Ne 3 (060B’SI3K0BE)
Koumponwoni 3axoou:
e YCHE ONIUTYBaHHSA 6 11 Tmoxnens




o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB
HE3HaOMUX CIIIB Ta iX Mepekyaja st yCHOTO
MepeKIaay TeKCTiB

12 Tmoxneus

o [lepeBipka MMCbMOBO BUKOHAHUX 2 12 TnxneHb
rpaMaTHYHUX BIIPaB
o MonaynpHa KOHTpOJbHA poboTa No 3 12 THXKIEHb
3M-I14 29 13—-15
TIDKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 7 13 TUKIEeHb
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JTOMAIIIHLOTO YATAHHS
* [linroTOBKA O BUKOHAHHS MOIYIHHOT 7 14 TYKIeHb
KOHTpPOJIbHO1 po0oTH Ne 4 (000B’SI3KOBE)
Konmponwvni 3axoou:
o YCHe OnMTYBaHHS 6 14 TuKIEHD
« [lepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 7 15 THXKIEeHb
HE3HAMOMHUX CJIIB Ta iX MepeKiaa Jjisl yCHOTo
NepeKIaay TEKCTIB
o [IepeBipka MMCHbMOBO BUKOHAHUX 2 15 TIKIEHD
rpaMaTUYHUX BIIPaB
e MonynbHa KOHTpOJIbHA poOoTa Ne 4 15 TYXICHB
3M-I3 | [ligroTroBKa NMCHMOBOTO MEPEKIIATY 2
KoHTpoapHuii 3axi
o IIucpmMoBHMU nepekna
(000B’s13K0OBE)
[TinroToBKa /10 3aJ1IKOBOI KOHTPOJIBHOT POOOTH 5 15 TxneHs
Konmponwhi 3axoou:
o 3as1ikOBa KOHTPOJIbHA pOOOTa
Pazowm: 120

1. MeToauka IpoBEAEHHS Ta OLIHIOBAHHS KOHTPOJLHOTO 3axony mist SM-I11.

I11:

MiHiMaJIBbHUM 00CAT 0a30BUX 3HAHb, I1T0 HEOOX1THMM 11 3aCBOEHHSI 3M —

— YUTATH, MIEPEKJIaIaTh Ta epekasyBatu Tekctu “Ecology”.
— YUTATH, TIEPEKIATAATH Ta aHOTOBAHO MEePEKa3yBaTH CYCIIbHO-TIONITUYH]

TCKCTHU.

— BHU3HAYATHU XaPAKTCPUCTHUKH BKUBAHHA Ta IMCPCKIIAAY I'PaMATHYHHUX SABUIIL

3a Temoto Indefinite Tenses (Active and Passive).

— YWTaTH, MEPEeKIagaTH Ta aHOTOBAHO IEpeKa3yBaTH TEKCTH 3a (HaxoBOIO

TEMATHUKOIO.




MakcumanbHa cyma 0ajiB 3a 000B’I3K0Bi 3ax0u KOHTpoJ10 3 3M-II1 — 23
oauau:

1 3aBnannsg — 17 OaiiB:

JluB. Tabm. 2.2

a) 5(1+1+1+2)
1 — ynTanus TCKCTY AHIJIIMCHKOK MOBOIO
1 — criMcoK He3HAOMHX CJIIB Ta iX nepeKiazg
1 — ycHMIT mepekiia TEKCTY
2 — mIepeKas TeKCTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy
1 — nepeka3 TekcTy

c) 4(2+2)
2 — nmuchbMoBHi KoHcTeKT npasui 3 Temu Indefinite Tenses (Active and Passive)
2 — MMCHMOBO BUKOHAHHI IPaMaTU4HI BIPAaBU

b) 4(1+1+1+1)
1 — cnicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHuit mepekas TeKCTy
1 — nucbMOBO BUKOHAaHEe Summary
1 — ycue Summary

1 3aBnanns (17 6aiB) He € 000B’SI3KOBUM.

2 3aBHaHHsA — 23 Oanu:

Buxonanug MKP Ne 1

MoaynbsHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBnaHHs
0,77 Gamu. MoaynbHa KOHTPOJbHA POOOTA BBAXKAETHCA 3aPAaXOBAHOO, SIKIIO
HaJaHO MiHIMYM 18 npaBWIBHKUX BiJIMOBIICH.

Skmo 3axoau 000B’SI3KOBUX (POPM KOHTPOJIO BUKOHYIOTHCS CTYJEHTOM
HIiCTsl CTPOKIB, BU3HAYEHUX Y MIPOrpaMi HaBUYAIbHOI IUCHUIUTIHHU, KIJIBKICTH OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HEe Moxe mnepeBuiryBatd 60% Big MaKCUMalbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOJIIO.



Ominka 3a okpemi (a0o yci) MOyl 3HMXKYETHCS y pa3l MPOMYCKIB 3aHSThH
CTYJICHTOM. 3a KOXKHE MPOMYIIEHEe 3aHATTS 3HIWKYy€eThcs 0,5 6anmu, ane MiHIManbHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% Bi MaKCHMaIbHO MOKIIUBOI.

MakcumanbpHa cyma 000B’s3koBux OaiiB 3 3M-I11— 23 Gainwn.

2 3apnaHHs (23 0ann) € 000B’I3KOBUM.

2. MeToarKka MPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-I12.

MiHIMaJIbHUHM 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1HHH U 3aCBOEHHS 3M —
I12:

— YUTATH, IEPEKIIAJIaT! Ta IepeKa3yBatu Tekct “Environment”.

— YWTATH, MEPEKIAJaTh Ta aHOTOBAHO MEPEKa3yBaTH CyCHIIbHO-TIOIITHYHI

TEKCTH.

— BU3HAYATU XapaKTEPUCTUKH B)KUBAHHS Ta NEPEKiIaay rpaMaTUYHUX SBHILL

3a Temoro Continuous Tenses (Active and Passive).

— YUTaTH, NEPEKJIaaTh Ta aHOTOBAaHO MEpeKa3yBaTU TEKCTH 3a (HaxoBOIO

TEMAaTHUKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’A3K0Bi 3ax0au KOHTPOJ0 3 3M-I12 — 23
oauu:

1 3aBmaHHsg — 17 OaniB:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — ynuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta iX Mepekian
1 — ycHu#l nepekaa TEeKCTy
2 — mepeKas TeKCTy

b) 4(1+1+1+1)
1 — ciucok He3HAOMUX CIIIB Ta iX MepeKIa
1 — ycHuil nepekaa TEKCTy
1 — nucbMOBO BUKOHaHEe Summary
1 — ycae Summary

c) 4(2+2)
2 — MMCbMOBHUI KOHCIEKT mpaBui 3 Temu Continuous Tenses (Active and Passive)
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3 — MMChMOBO BUKOHAH1 I'paMaTU4H1 BIIPaBU

d 4(1+1+1+1)
1 — ciucok He3HAMOMUX CIIIB Ta IX MepeKial
1 — ycHul nepekaa TEeKCTy
1 — nucbMOBO BUKOHaHE Summary
1 — ycue Summary

1 3aBmanns (17 0aniB) He € 00OB’SI3KOBUM.

2 3aBaaHHyd — 23 Oanu:

Buxonanasg MKP Ne 2

MonynsHa KOHTpOJIbHA poboTa ckimanaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHS
0,77 OGammu. MomynbHa KOHTPOJbHA POOOTAa BBAXKAETHCSA 3apPaxOBaHOIO, SKIIO
HaJaHO MiHIMYM 18 nmpaBUIBHUX BiAMOBIIEH.

Axmo 3axoan 00OB’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYIAEHTOM
HIiCIsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIBHOI IUCHUIUTIHHU, KIJIBKICTh OaiB,
10 MOXXE€ OTPUMAaTHU CTYIEHT, HE MOXe mnepeBuiryBaTH 60% Big MakcUMalbHO
MO>KJIMBOI JUISI 11i€1 JOPMHU KOHTPOJIIO.

Orminka 3a okpemi (200 yci) MOAYJI 3HMXKYEThCA y pa3l MPOIYCKIB 3aHATh
CTYIAEHTOM. 3a KOXKHE MPOMYIIEHE 3aHATTA 3HUXKYeThes 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTH Huxk4da 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyMma 000B’a3k0BUX 0aiiB 3 3M-I12 — 23 Ganu.

2 3apmaHHs (23 6anm) € 000B’I3KOBHM.

3. Meroanka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3axoay s 3M-T13.

MiHiMaJIBbHUM 00CAT 0a30BUX 3HAHb, I1T0 HEOOX1THUM 11 3aCBOEHHS 3M —
I13:

— YUTATH, TIEPEKIIaIaTH Ta epekasysaru Temy “Population ecology”.

— YWUTaTH, MEepeKJafaTl Ta aHOTOBAHO IEepeKa3yBaTH TEKCTU 3a (PaxoBOIO

TEMaTHKOIO.

— YUTaTH, TEepeKyafiaTl Ta aHOTOBAHO MEpeKa3zyBaTH CYyCHUIbHO-TIOIITHYHI

TEKCTH.

— BU3HAYATH XapPaKTEPUCTUKH BKUBAHHS Ta TIEPEKIIay TpPaMaTHUHUX SIBHII]

3a Temoro Perfect Tenses (Active and Passive).
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MakcumanbHa cyma 0ajiB 3a 000B’I3KO0Bi 3ax0u KOHTpPoJI0 3 3M-II3 — 22
oauau:

1 3aBnandsg — 17 Oais:

JluB. Tabm. 2.2

a) 6(L+1+2+2)
1 — ynTanus TCKCTY AHIJIIMCHKOK MOBOIO
1 — criMcoK He3HAOMHX CJIIB Ta iX nepeKiazg
2 — yCHUH TIepeKIa]l TeKCTy
2 — mIepeKas TeKCTy

b) 6(1+2+1+2)
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
2 — yCHU MepeKIaa TeKCTy
1 — nucbMOBO BUKOHAaHE Summary
2 — ycHe Summary

c) 5(2+3)
2 — muchbMOBHI KoHCIeKT npasui 3 Temu Perfect Tenses (Active and Passive)
3 — MMCHMOBO BUKOHAHI1 IpaMaTU4H1 BIIPaBU

1 3aBnanus (17 6aiiB) HE € O0OOB’SI3KOBUM.

2 3aBIaHHs — 22 Oau:

Buxonanusa MKP Ne 3

MoynbHa KOHTpOJIbHA poboTa ckianaetses 3 30 3aBnanb. KokHe 3aBnaHHs
0,73 ©Oamu. MopaynpHa KOHTpOJbHAa poOOTa BBAXKAETHCS 3apPaxOBaHOIO, SIKIIO
HaJaHO MiHIMYM 18 mpaBUIBHMUX BiAMOBIIEH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYIECHTOM
MICTIsl CTPOKIB, BU3HAYEHHUX Y TIPOrpaMi HaBUAIBHOI IUCHIUIUIIHU, KIJTBKICTh OaliB,
[0 MOXK€ OTpUMATH CTYACHT, HE MOke mepeBuiryBatd 60% BiJl MaKCHMAaJbHO
MO>KJIMBOI JUTSI 1i€1 JOPMHU KOHTPOJTIO.

Ominka 3a okpemi (abo yci) MOIyJl 3HMXKYEThCS y pa3il MPOIYCKIB 3aHSThH
CTYJIEHTOM. 3a KOKHE TPOIyIIeHE 3aHATTS 3HUXKYyeThes 0,5 Oarna, ame MiHiManbHa
OIliHKA MICJISl 3HMKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMAJIbHO MOYKJIUBOI.

MakcumanbHa cyMma 000B’a3k0BUX 0aiiB 3 3M-113 — 22 Ganu.

2 3aiaHHs (22 6anu) € 000B’ A3KOBUM.
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4. MeTtoarka MPOBEICHHS Ta OHiHIOBaHHH KOHTPOJIBHOI'O 3aX0o4y AJIA 3M-I14.

MiniMansHuH 00caT 0a30BUX 3HAHB, IO HEOOXITHUH JIJII 3aCBOEHHS 3M —
[14:

— YUTATH, IEPEKIIAJIaTH Ta epekaszysaru Temy “The habitat™.

— YUTaTH, MEPEKIalaTi Ta aHOTOBAHO TEpeKa3yBaTH TEKCTH 3a (HaxoBOIO

TEMAaTHUKOIO.

— YUTaTH, TIEPEeKIagaTh Ta aHOTOBAHO TEpeKa3yBaTH CYCHUILHO-TIOIITHYHI

TEKCTH.

— BU3HAYATU XapPaKTEPUCTUKH BKUBAHHS Ta MEPEKIAay TPaMATUIHUX SBHUII

3a Tremoro Perfect Continuous Tenses (Active and Passive).

MakcumasnbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3ax0au KoHTpoJw 3 3M-114 — 22
oauu:

1 3aBmadusa — 17 GaiiB:

JuB. Tabm1. 2.2

a) 5(1+1+1+2)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepekiaa TeKCTy
2 — mepeKas TeKCTy

b) 4(1+1+1+1)
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHu#l nepekaa TEeKCTy
1 — nucbMOBO BUKOHAaHE Summary
1 — ycue Summary

c) 4(2+2)
2 — MMCHbMOBHI KOHCIEKT TpaBui 3 Temu Perfect Continuous Tenses (Active and
Passive)
2 — MICHMOBO BUKOHAHI1 TPaMaTU4H1 BIIPAaBU

d 4(1+1+1+1)
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — ycHu#t nepekaaa TeKCTy
1 — nucbMOBO BUKOHaHEe Summary
1 — ycue Summary
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1 3aBmanHs (17 6aniB) HE € 00OB’SI3KOBHUM.

2 3aBaaHHsg — 22 Oanu:

Buxonanug MKP Ne 4

MoaynbsHa KOHTpoJibHA poOoTa ckianaeThes 3 30 3aBganb. KoxkHe 3aBiaHHs
0,73 OGamu. MoaynpHa KOHTPOJIbHA POOOTAa BBAXKAETHCS 3apaxOBAaHOO, SIKIIO
HaJlaHO MiHIMYM 18 npaBuiIbHUX BIAIOBIICH.

Aximo 3axoau 000B’A3KOBUX (POPM KOHTPOJIO BUKOHYIOTHCS CTYJIEHTOM
MICJIA CTPOKIB, BU3HAUYCHHUX y MPOTpaMi HaBYAIbHOI JTUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXXE€ OTPUMATH CTYACHT, He MOxe mepeBuiryBatd 60% Bil MaKCHMAaJbHO
MOXJIUBOI1 JUIs 11i€1 (HOPMHU KOHTPOIIO.

Ouinka 3a okpemi (abo yci) MOAYJl 3HMKYETBCS y pa3l MPOIYCKIB 3aHATh
CTYJCHTOM. 3a KOKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HIXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.

MaxkcumanbHa cyma 000B’s3k0BuX OaiiB 3 3M-114 — 22 Ganu.
2 3aBnanHs (22 6an) € 000B’ I3KOBUM.

3. MeToaMKAa MPOBEICHHS TA OIIHIOBAHHS iHIMBIIVAJILHOI0 3aBIAHHS 3M-13
(IUCHLMOBOT0 NEPEKJIATY) .

[HauBiyanpbHe 3aBIaHHS 1€ MUCHMOBUM TMEPEKIaj] JABOX BHU/IB TEKCTIB
(25000 np.smakiB). 1. Ilepeknam Ttekcry 3a daxom (15000 nap.3HakiB). 2.
[lepexnan cycnuibHO-oMITHYHO1 JeKkcuku (10 000 np.3HaKIB).

MiHimManpHUNi 00CST MHCHBMOBOIO MEpPEKJIaay, 110 HEOOXIMHWM [Jisi 3aCBOEHHS
HAaBUYOK pOOOTH 3 IHO3EMHUM TeKCTOM ckiaaae 25 000 ap. 3HaKiB 3a ceMecTp.

[Tepexman Tekcty 3a (axoM OIIHIOETbCS B 5 0aliB, MEpekiaj CyCIIbHO-
MOTITUYHOT JIEKCUKH OIIHIOETHCS TEX B 5 OamiB. YChoro iHAMBIIyaIbHE 3aBIaHHS

oiHOETHCS B 10 OaniB.

[nauBinyansue 3aBganHs (10 6aniB) € 000OB’SI3KOBUM.
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4. MeToauKa NPOBEACHHS TA OIIHIOBAHHSA CEMEeCTPOBOI0 3AJiKOBOI0
3aB/IAHHS.

3amikoBa ceMecTpoBa KOHTpOJbHa poOoTa ckianaeTscsi 3 40 3aBnaHb.
Koxne 3aBmannst 2,5 Oanmu. 3amikoBa KOHTpPOJbHA poOOTa BBAXKAETHCA
3apaxoBaHO0, SIKIO HaaHo MiHIMyM 20 MpaBUILHUX BiAMOBIACH.

KoHTposb NOTOYHNX 3HAHb BUKOHYETHCSI HA 0a31 HAKOIMYYBAJIbHOI CUCTEMU
opraHi3ailii HaB4aHHS.

dakTyHa cyma OaiiB, SIKy OTPUMY€ CTYACHT 3a IEBHUU 3MICTOBHMMU
MOJlyJlb, MAa€ CKJIAAAaTHUCA 13 PE3yJIbTaTIB BUKOHAHHS 3aXOMAIB 3 KOHTPOJIIO, IO
3allJJaHOBAaHI 3a IIMM 3MICTOBHUM MOJyJIeM, Ta YpaxOBYBaTH CBO€YACHICTh
(HampuKiIaA: CTYAEHT, SIKMM MpOMYCTUB KOHTPOJBHHMM 3axin 0e3 MOBaXHUX
npuyuH ab0 OTpPUMAaB HE33JOBUIbHY OIIHKY, MAa€ MPaBO Yy TIWKHEBUN TepPMiH
BUKOHATH 3aBJaHHS LIbOTO 3aX0/y 3 MAaKCUMaJIbHOIO CYMOIO 0ajliB, €KBIBAJIEHTHOIO
OLIHIII He OupUIA HDK "3aJ0BUIbHO") BUKOHAaHHS CTYJIEHTOM TIpadiky
HaBYAJILHOTO TPOIIECY.

CyMmu 0OaniB, sIKI OTpUMaB CTYJEHT 3a BCIMa 3MICTOBHUMHU MOAYJISIMH HaB-
YalbHOI JUCUUIUIIHM, (OPMYIOTh KUIBKICHY OIIHKY (0an ycHmimHOCTI) 3a
MiCYMKaMH TOTOYHUX KOHTPOJIOIOYMX 3aXOMAIB CTyJeHTa 3 HaBYAJIbHOI
JUCHMIUTIHU. Pe3yiabTaT HOTOYHOTO KOHTPOJIIO 3aHOCATHCA JI0 IHTErpajbHOI
BiloMOCTi. PimeHHss mpo [OMycK CTyJeHTa JI0 MiJICYMKOBOIO CEMECTPOBOTO
KOHTPOJIIO 3 KOHKPETHOI HaBYaJIbHOI JUCIUIUIIH perjiaMeHTyeThesl [lomoxkeHHsam
PO MPOBEACHHS MiJICYMKOBOI'O KOHTPOJIIO 3HAHb CTYEHTIB.

CTyZleHT BBaXXa€ThCS JAOMYIIEHUM JO MIJCYMKOBOIO CEMECTPOBOIO
KOHTPOIJTIO, SIKIIIO BIH BUKOHAB BC1 BUAM PoOIT, TiepeadayeHi poO0ou00 HaBUYaIbLHOIO
MPOTPaMOI0 AUCIUILIIHU 1 HA0paB 3a MOYJIbHOK CUCTEMOIO CyMy OalliB HE MEHIIIE
50 (50%) Bim MakcuManbHO MOXJIMBOI (000B’si3koBa yactuHa 100 OamiB) 3a
MPAKTUYHY YaCTUHY.

[Ti1CyMKOBUM KOHTpPOJIEM 3HAHb CTYJICHTIB € 3aJIiK.

CTtyaeHT OTpUMYE€ 3ajiK, KOJIM BIH Ma€ HAa OCTaHHIM JI€Hb CEMEeCTpy
IHTEerpaJbHy CyMy 0ajiB IOTOYHOI'O KOHTPOJIIO, qocTaTHO (60% Ta Oimbiie) s
OTpUMaHHS IMO3UTUBHOI OIIIHKKA Ta He MeHIIe 50% Bil MaKCHMAJIbHO MOKJIUBOI
cymH 0aJiiB Ha 3a/1iKOBii KOHTPOJIbHII Po0OTI.

[aTerpanpHa ominka (B) mo quciuriiizi po3paxoBy€eThes 3a HOPMYIIOI0

B =10,75x03+0,25 x O3KP,

ne O3 — kinbkicHa oIfiHKa (y BIJCOTKAaX BiJ MaKCHMallbHO MOXKJIMBOi) 3a
3MICTOBHUMU MOAYJISIMHU;
O3KP - kinbkicHa omiHKa (y BIACOTKaxX BIJI MaKCHUMaJIbHO MOKJIUBOI)

3aJI1IKOBOi KOHTPOJIBHOI POOOTH.
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3. PEKOMEHJAIII 1O CAMOCTIMHOI POBOTH CTYJIEHTIB

3.1.  Mooynv 3M-II1 “Ecology”, “Environmental science”; I pynu uacie
Indefinite (Present, Past i Future) 6 akmusHomy i nACUBHOMY CIAHAX, NepeKIad
CYCRIIbHO-NOJIMUYHO020 MEKCMY 3 AH2NIUCHKOL HA YKPAIHCHKY MOB).

Jlitepatypa: [1, c. 9 -15], [2, c. 20-24], [6, c. 10-23]

AW N~

AW N —

DN BN WN -

3.1.1. [ToBuanus

a) Text A. “Ecology”

. [IpounTaTy TEKCT aHIMMIICHKOIO MOBOIO.

. Buniucatu 3 TeKCTy HOBI cJIOBa Ta 3pOOUTH X MEepeKIal.

. YCHO MepeKIacTh TEKCT 3 aHTJIACHhKOI Ha YKPAiHCbKY MOBY.
. [lepexa3atu TEKCT.

b) Text B. “Environmental Science”.

. [IpounTaT TEKCT aHIITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeKs1acTi TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.
. [lepexa3atu TEKCT.

c) Grammar:
I'pynu yacis Indefinite (Present, Past i Future) B akTuBHOMY 1 TACUBHOMY
CTaHaX

1. 3poOUTH KOHCIIEKT MPpaBUJ YTBOPEHHS Ta BXKUBAHHS IPYIH YaciB
Indefinite (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJibHI FpPAMaTH4HI BIPABH.

d) JomariHe untaHHs (Mepekaa CyCHiIbHO-MOTITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTIIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO nepeK1acTu TEKCT 3 aHIJIIChbKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

15
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3.1.2. TlutaHHs 17151 caMOIIepeBIpKU

What is ecology?

What factors does the organism environment include?

How did Ernst Haeckel define ecology in 18667

Who wrote the first university course on the subject?

How is ecology usually considered?

What disciplines does ecology comprise?

What whole-world problems require attention nowadays?

What groups of organisms plant (bird, plankton) populations comprise?
. What is the parallel form for “ecosystem” in Ukrainian literature?

10 What can you tell about environmental problems in Ukraine?
11.What do you know a about environmental crisis in the world?

3.2.

Mooyne 3M-ITI2 “Environment”; I pynu uacie Continuous (Present, Past i

Future) 6 akmuenomy i nacuenomy cmauax, nepexkiao cycnilbHO-HOAMUYHO20
MeKcmy 3 aH2NUCLKOI Ha YKPAIHCbKY MOBU, NepeKaa0 mekcmy 3a (haxom.

Jlitepatypa: [1, . 16 -25], [2, . 24-26], [6, c. 24-34]

3.2.1. IloByanus

a) Text “Environment”.
1. [IpounTatu TEKCT aHTIIHCHKOIO MOBOIO.
2. BunicaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH iX MEPEKIIa/l.
3. YCcHO nepekiacT TeKCT 3 aHTJIHCHKOT Ha YKPaiHChbKY MOBY.
4. Ilepekas3aTu TEKCT.

b) Iepeknan CycmiIbHO-MOITHIHOTO
1. CamocTiifHO BHOpaTH TEKCT 3 aHTJIOMOBHOI Ta3eTH (2 500 ap.3HaKiB)
2. BumnucaTu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIal.
3. YCHO nepeKacT TEKCT 3 aHTIIHCHKOI Ha YKPaiHChKY MOBY.
4. [TucpmoBe Summary.
5. Ycue Summary

c) pymnum gaciB Continuous (Present, Past i Future) B akTHBHOMY i TACHBHOMY
cTaHax
1. 3poOuTH KOHCIIEKT MPABHJI YTBOPECHHS Ta BXKUBAHHS TPYIH YaciB
Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJlbHI FpaMaTU4HI BIPABHU.

d) Homarnine untanus. [lepeknam TekcTy 3a paxom
1. CaMOCTIiitHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HaKIB
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2. Bumnucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH X MEpeKiIa.

3. YCHO nepeK1acTi TEKCT 3 aHITMChKOT Ha YKPaiHChKY MOBY.
4. [TucpmoBe Summary.

5. Ycue Summary

3.2.2. IlutaHHs 71 caMOIIepeBIpKU

1. What types of ecological factors do you know?

What reaction of the organism on the abiotic factor’s influence (e.g.
temperature) may be observed?

What factors are primary? Secondary?

What are the climatic factors?

What abiotic factors are essential to life?

What are the five factors that affect climate? What factors regulate temperature?
What climate factors affect Ukraine?

What are the major biotic factors in ecological systems?

. What are major limiting abiotic factors in deserts?

10 What are the major abiotic factors of the temperate rainforests?

11.What are major biotic and abiotic factors of a lake?

no

©CoOoN® O hoW

3.3. Mooyas 3M-II3 “Population Ecology ”; I pynu uacis Perfect (Present, Past
i Future) 6 axmugHomy i nacugHOMy CmauHax, nepexiao CyCniibHO-nOJIMUYHO20
meKcmy 3 aH2NIUCbKOI Ha YKPAIHCbKY MOGU.

Jlitepatypa: [1, . 25-34], [2, c. 26-28], [6, c. 35-46]

3.3.1. [ToByanHus

a) Text “Population Ecology”.

1. [IpounTtaru TEKCT aHTIIHCHKOIO MOBOIO.
2. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MepeKIa.
3. YCHO nepeKs1acTu TEKCT 3 aHIJIIIChbKOI Ha YKpaiHChKY MOBY.

b) JomamiHe untanHs (MepeKiaa CyCHiIbHO-IOITHYHOTO TEKCTY )

1. CamocriitHO BUOpaTH TEKCT 3 aHIIOMOBHOI ra3etu (2500 ap.3HaKiB)
2. BunucaTu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEPEKIIa.
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3. YCHO nepeKsIacTi TEKCT 3 aHTUIMChKOI Ha YKPaiHChKY MOBY.
4. TTucpmoBe Summary.
5. Ycue Summary

c) Grammar:
['pymu yacis Perfect (Present, Past 1 Future) B akTHBHOMY 1 ITACUBHOMY

CTaHax

1. 3poOuTH KOHCTIEKT MpaBWJI YTBOPEHHSI Ta BXKUBaHHs Ipynu yaciB Perfect

(Present, Past, Future) B Active and Passive Voice.
2. BuxkoHaTtu TpeHyBaJIbHI rpaMaTU4HI BIIPABHU.

3.3.2. [lutanHs 11t caMOTIepeBIpKU

How can we describe a population’s distribution?

What are three common distribution patterns observed among individuals
within a population?

Why do we try to estimate population sizes?

What values are indicated on the survivorship curve? Draw and explain.
What values can be obtained from the age structure diagram? Draw and
explain.

What information can you get from a life table? Draw and explain.

Is a population a group composed of all members of the same species?
What is population?

. Where does this group live?

10 What does population ecology study?
11.What will the status of specific population indicate?
12.What can the areas occupied by a population include?

3.4.

Past i Future) 6 akmugnomy i naCUBHOMY CIMAHAX, NEePEKIAd CYCNilbHO-
NOAIMUYHULL MEKCM 3 AH2TITUCHKOL HA YKPAIHCLKY MOBU, NEPEKIA0 MeKCmY 3d
gaxom.

Jlireparypa: [1, c. 35-45], [2, c. 28-32], [6, c. 47-58, 61-62]

3.4.1. I[ToBuanHsa

a) Text “The Habitat”.
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b)

c)

1. [IpounTaru TEKCT aHTIIHCHKOIO MOBOIO.

2. Bunucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOHTH 1X TIEpEeKIal.

3. YCHO mepeKs1acTu TEKCT 3 aHTJIIMChKOI Ha yKPaiHCHKY MOBY.
4. Ilepeka3aTu TEKCT.

JloMarntHe yuTaHHs (MEPEKIa]] CyCIiIbHO-TMOMITUYHOTO TEKCTY)

1. CamocTiitHO 00paTy TEKCT 3 aHTJIOMOBHOI razetu (2500 1p.3HaKiB)
2. BunucaTu 3 TEKCTYy HOBI CJIOBa Ta 3pOOUTH X MEpeKal.

3. YCHO nepekiIacTy TEKCT 3 aHIJIINChKOT Ha YKPaiHChKY MOBY.

4, TTucbmoBe Summary.

5. ¥Ycue Summary

Grammar:
I'pyou gaciB Perfect Continuous (Present, Past 1 Future) B akTuBHOMY 1

INAaCMBHOMY CTaHax

1. 3poOuTH KOHCIIEKT TIPaBUJI YTBOPCHHS Ta BXKUBaHHs rpynu yaci Perfect
Continuous (Present, Past, Future) B Active and Passive Voice.
2. BukoHaTu TpeHyBaJibHI FpaMaTU4HI BIPABH.

d) domarne untanus. [Tepeknan TekcTy 3a paxom

1. CamocTiiiHO BUOpaTH TEKCT 3 aHIJIOMOBHOTO TeKCTy 3a (haxom (8000
JIp.3HaKIB

2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X TIEPEKIal.

3. YcHO nepeksiacT TeKCT 3 aHTIIHCHKOT Ha YKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. ¥Ycae Summary

3.4.2. IlutanHs 1u1si caMOTIepEeBIpKU

How do we call the place occupied by organisms? Where the habitat can be
found?

What factors does the habitat consist of?

What specific place tells about the role of species in the ecosystem?

What does the ecological niche tell us about? What factors does ecological
niche depend upon?

How is succession initiated? What dynamics can be observed in succession?
What is organism address and profession?

Who gave these definitions to the organism?

What kinds of ecological succession do you know?

19



9. What is successional dynamics?

10. How many factors of ecological groups do you know?
11. What is a biotope?

12. What specific abiotic substances the factors do include?
13. What are natural disasters?

14. What do the biogeochemical cycles guarantee?

3.5 Inougioyanvne 3a60anns.

[naiBinyanbHe 3aBIaHHS 1€ TMCBbMOBUH TIepekiia 1BoxX BUI1B TekceTiB (25 000
JIp.3HAaKIB).

1. ITepexmazn Texcty 3a daxom (15 000 ap.3HaKiB). [yt HOTO BUKOHAHHS CTYACHT
MOBUHEH:
1. CamocTIiiHO BUOpATH TEKCT 3a (haxoM (HayKOBa CTaTTs Y HAYKOBOMY
KypHal).
2. Hanucatu ciicok He3HAHOMUX JJIsl HBOTO CJIiB Ta iX MepeKIIa/l.
3. Hanucatn nucsMoBUi NEpeKnaj TEKCTY.
4.V 3a3HaueHU TEpMIH 3[aTU 3aBAaHHS (QHTJIIMCHKUM TEKCT, CIHUCOK
HE3HallOMHX CJIB, Nepeknan) Bukiaagady. CTylneHT 000B’S3KOBO MOBUHEH
BKa3aTHU JHKEPEIIO, 3 SIKOTO B3STUN NEPEKIAICHUNA TEKCT.

2. Ilepekian cycninbHO-TIoniTHYHOI Jiekciku (10 000 ap.3HakiB). [l ioro
BUKOHAHHS CTYJICHT [IOBUHEH:
1. CamocTiitHO BUOpaTH TEKCT 3a (paxom (CTaTTs 3 aHTJIOMOBHOI Ta3€TH).
2. Hanucatu cnircok He3HAHOMUX JJIsl HhOTO CJIiB Ta iX MepeKIIa/l.
3. Hanmucatn nucbMoBUi NEpeKna TEKCTY.
4.V 3a3HaueHUM TEpMIH 3[aTU 3aBAaHHS (QHTJIIMCBKUM TEKCT, CIHUCOK
HE3HAMOMHUX CIiB, mepekian) Bukianayy. CTyaeHT o0OB’S3KOBO MOBUHEH
BKAa3aTH JIKEPEJIO, 3 IKOTO B3ATUH MEPEKIIACHUIN TEKCT.

4. MIMTAHHA 10 3AXOAIB IOTOYHOT O, IIACYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTu4Hi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI po6oTH Moy 3M-I11.

Module control work Ne 1

[2, c. 20 — 24], [3, c. 4 — 23]
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I. Grammar Test (Yacu I'pynn Indefinite)
Put the right form of the verb:

1. You are a great cook! This cake (to taste) wonderful as usual. [2, c. 21 — 22], [3,
c.4-13]

2. The students (to ask) not to be late for their classes. [2, c. 21-22, 32], [3,C. 4 —
13]

3. My father is sure bicycles (to use) as the most popular city transport in twenty
years' time. [2, c. 23, ¢. 32], [3, c. 19 — 23, c. 47 — 55]

4. It (to announce) in London that morning that the British Oil Corporation had
discovered oil under the sea near the Welsh coast. [2, c. 22 — 23, c. 32], [3,
c.13-19]

5. A new hospital (to build) in our neighbourhood next spring. [2, c. 23 — 24,
c.32],[3,c. 1923, c. 47 — 55]

6. They (to finish) the work at the end of the week. [2, c. 23 — 24], [3, ¢. 19 — 23]

7. The accident (to happen) while they were driving on the highway. [2, c. 22], [3,
c. 13-19]

8. As long as | am head of this company, | (to handle) not all the business. [2,

c. 23], [3, c. 19 - 23]

9. The desire for fame (to make) men work hard and does not let them rest till the
goal is gained. [2, c. 21 —22], [3, c. 4 — 13]

10.Yesterday, when he (to open) the door, he (to understand) that he (to do) it with
awrong key. [2, c. 22 - 23], [3, c. 13 - 19]

11.She (not to see) me when | (to come) into the room. [2, c. 22 — 23], [3, c. 13 —
19]

12.As a rule he (to translate) two articles a week. [2, c. 21 —22], [3, ¢c. 4 — 13]

13.Why you (not to put) your coat on yesterday? [2, c. 22 — 23], [3, ¢. 13 -19]

14.He (to play) football every day. [2, c. 21 — 22], [3, ¢. 4 — 13]

15.Last year | (to take) by my parents to the South. [2, c. 22 — 23, c. 32], [3, c. 13—
19, c. 47 — 55]

16.Tomorrow we (to pass) the examination. [2, c. 23-24], [3, c. 19 — 23]

17.He usually (to travel) by train. [2, c. 21 — 22], [3, c. 4 — 13]

18.He filled in his name, signed the contract and (to give) it to the secretary. [2,
c.22-23],[3,c.13-19]

19.We (to stay) in that city twice in 2018. [2, ¢. 22 — 23], [3, ¢. 13— 19]

20.How often does Nick go to the swimming pool? — He (to go) to the swimming
pool every day. He likes swimming. [2, c. 21 —22], [3, c. 4 — 13]

21.After supper my sister (to go) for awalk. [2, c. 21 — 22], [3, ¢. 4 — 13]

22.Great Britain (to lie) in the eastern part of the Atlantic Ocean. [2, c. 21 — 22], [3,
c.4-13]

23. The teacher (to explain) a new rule yesterday. [2, ¢. 22 — 23], [3, c. 13 — 19]
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24.\We (to meet) them at the railway station tomorrow. [2, 23 — 24], [3, c. 19 — 23]

25.The sea (to surround) the British Isles. [2, ¢. 21 — 22], [3, ¢. 4 — 13]

26.Yesterday we (to write) a dictation. [2, c. 22 — 23], [3, ¢. 13 —19]

27.She (to give) you a good advice next week. [2, 23 — 24], [3, ¢. 19 — 23]

28.The pupils of our form (to go) in for sport. [2, c. 21 —22], [3, c. 4 — 13]

29.The children (to spend) the whole day in the park. [2, c. 22 — 23], [3, c. 13 — 19]

30.They (to go) to Poland next month. [2, 23 —24], [3, c. 19 — 23]

31.Many tourists (to come) to our town in summer. [2, ¢. 21 — 22], [3, ¢. 4 — 13]

32.We (to reach) the village before dark. [2, c. 22 — 23], [3, ¢. 13— 19]

33.My brother (to be) on leave next spring. [2, 23 — 24], [3, c. 19 — 23]

34.He (to like) to write long letters. [2, ¢. 21 — 22], [3, c. 4 — 13]

35.The student (to pass) the examination successfully. [2, ¢. 22 — 23], [3, ¢c. 13 —
19]

36.Tomorrow they (to be) far from here. [2, 23 — 24], [3, ¢. 19 — 23]

37.The Severn (to be) the longest river in Great Britain. [2, ¢c. 21 — 22], [3, c. 4 —
13]

38.The pupils of our form (to go) to the museum last week. [2, c. 22 — 23], [3, c. 13
—19]

39.He (to go) to the post-office to wire to his mother tomorrow. [2, 23 — 24], [3,
c.19-23]

40.Usually I (to clean) my room on Saturday. [2, c. 21 —22], [3, c. 4 — 13]

41.1 (to go) to England last year. [2, c. 22 — 23], [3, ¢. 13 - 19]

42.1 (to give) her a valuable present to her next birthday. [2, 23 — 24], [3, ¢. 19 —
23]

43.Shakespeare's plays and poems (to be) the monument of a remarkable genius.
[2,c.21-22],[3,c.4—-13]

44 We (to do) the work in time. [2, c. 22 — 23], [3, ¢. 13— 19]

45.1t (to rain) hard in the afternoon tomorrow. [2, 23 — 24], [3, c. 19 — 23]

46.The sun (to rise) in the East. [2, c. 21 — 22], [3, c. 4 — 13]

47.She (to tell) us the truth. [2, c. 22 — 23], [3, ¢c. 13 — 19]

48.You (to see) a beautiful park near the lake. [2, 23 — 24], [3, c. 19 — 23]

49.Water (to freeze) at zero. [2, c. 21— 22], [3, ¢c. 4 — 13]

50.1 (to speak) and write English perfectly. [2, ¢c. 21 — 22], [3, ¢. 4 — 13]

51.1 (to be) glad to see you again. [2, 23 — 24], [3, c. 19 — 23]

52.1 (to hear) somebody's voice in the distance. [2, ¢. 21 - 22], [3, ¢. 4 — 13]

53.My friend (to learn) Shakespeare's poem by heart. [2, c. 22 — 23], [3, ¢. 13 — 19]

54.She (not to clean) the flat in the evening. [2, 23 — 24], [3, c. 19 — 23]

55.The pupils (to write) dictations twice a week. [2, c. 21 —22], [3, c. 4 — 13]

56. We (to work) in the garden two days ago. [2, ¢. 22 — 23], [3, ¢. 13 - 19]

57. (to plant) they a lot of trees in spring? [2, 23 — 24], [3, c. 19 — 23]

58. The librarian (to give) us interesting books and magazines every month. [2, c.
21-22],[3,c.4-13]

22



59. There (to be) flowers in her hand. [2, c. 22 — 23], [3, c. 13— 19]
60. At what time (to get up) you tomorrow? [2, 23 — 24], [3, c. 19 — 23]

[1, c. 13-14]
1. Fill the gaps:
Environmental Science

Environmental science is an 1) academic field that integrates
physical and biological sciences (including physics, chemistry, biology, soil
science, geology, and geography) to the study of the 2) , and the
solution of environmental problems. Environmental science provides an integrated,
quantitative, and interdisciplinary approach to the study of environmental 3)
Related areas of study include environmental studies and
environmental engineering. Environmental studies incorporate more of the social
sciences for 4) human relationships, perceptions and policies
towards the environment. Environmental engineering focuses on design and
technology for improving environmental quality. Environmental scientists work on
subjects like the understanding of earth processes, evaluating alternative energy
systems, pollution control and mitigation, natural resource management, and the

effects of global 5) . Environmental issues almost always include an
interaction of physical, chemical, and biological 6) . Environmental
scientists bring a system 7) to the analysis of environmental

problems. Key elements of an effective environmental scientist include the ability
to relate space, and time relationships as well as quantitative 8)
Environmental science came alive as a substantive, active field of SC|ent|f|c
investigation in the 1960s and 1970s driven by a) the need for a multi-disciplinary
approach to analyze 9) environmental problems, b) the arrival of
substantive environmental laws 10) specific environmental protocols
of investigation and c) the growing public awareness of a need for action in
addressing environmental problems.

A) Analysis, B) systems, C) complex, D) approach, E) requiring, F) processes, G)
climate change, H) understanding, ) interdisciplinary, J) environment.

4.2. I'pamaTtuyHi 3aBJaHHS 10 MOJIYJIbHOI KOHTPOJIBHOI poOoTH Moay:st 3M-T12.

Module control work Ne 2

[2, c. 24 —26], [3, c. 23 —30]
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I. Grammar Test (Yacu I'pymnu Continuous)

Put the right form of the verb:

1. | cut my finger when | (to peel) the potatoes. [2, c. 24 — 25], [3, c. 26 — 28]

2. Our flat (to paint) at the moment, so it doesn't look its best. [2, c. 24, c. 32], [3,
Cc. 23— 26, c. 47 -55]

3. When the Smiths came they (to convince) the whole hour that Paul himself had
broken the window at his house because he wanted to make them think that a
burglar had stolen his valuable stamp collection. [2, c. 24-25], [3, c. 26 — 28]

4. Where are you going? | (to speak) with you. [2, c. 24], [3 c. 23 — 26]

5. My brother will be absent. He (to prepare) for his exam at this time tomorrow.
[2, c. 25], [3 c. 28 —30]

6. Steven (to talk) with Ann when | saw them in the Central Park. [2, c. 24-25], [3,
C. 26 — 28]

7. He was getting the best care and treatment in the hospital, and he (to monitor)
night and day. [2, c. 24-25, c. 32], [3, c. 26 — 28, c. 47 — 55]

8. The new computer system (to install) at the moment. [2, c. 24-25, c. 32], [3,

c. 23— 26, c. 47 -55]

9. We can’t take the car: it (to repair) in the garage. [2, c. 24, c. 32], [3, c. 23 — 26,
C. 47 -55]

10.Nowadays people (to blame) their circumstances for what they are. [2, c. 24-
25], [3 c. 23 — 26]

11.When | looked out of the window, I saw that it (to snow) and everything was
covered with snow. [2, c. 24-25], [3, c. 26 — 28]

12.Somebody (to talk) in the next room? — No, nobody (to talk). My son (to watch)
television now. [2, c. 24], [3 c. 23 — 26]

13.What he (to do) here? — He (to wait) for his friend. [2, c. 24], [3 c. 23 — 26]

14.They (to play) chess the whole evening. [2, c. 24-25], [3, c. 26 — 28]

15.At two o'clock tomorrow we (to take) our French lesson. [2, c. 25], [3, c. 28 —
30]

16.Yesterday | returned home at eight o' clock: it (to get) dark and (to rain) at the
time. [2, c. 24-25], [3, c. 26 — 28]

17.Tomorrow he still (to work) when | come home. [2, c. 25], [3, c. 28 — 30]

18.We are very busy now. We (to discuss) a very important question. [2, c. 24], [3
c. 23 — 26]

19.She (to sit) in the armchair and (to read) an interesting book now. [2, c. 24], [3
c. 23 — 26]

20.You (to work), when I phoned you last night? -Yes, | (to work). [2, c. 24-25],
[3, c. 26 — 28]

21.Where is Anna? She is in the library. She (to prepare) her report for tomorrow.
[2, c. 24-25], [3, c. 23 — 26]
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22.1t (to be) raining hard now. [2, c. 24 — 25], [3, c. 23 — 26]

23.We (to be) passing our English examination at this time tomorrow. [2, c. 25 —
26], [3, c. 28 —29]

24.Look! The bus (to come) up. [2, c. 24 — 25], [3, c. 23 — 26]

25.1 (to be) playing the violin when she came in. [2, c. 24-25], [3, c. 26 — 28]

26.She (to be) preparing dinner at 3 o'clock. [2, c. 25 — 26], [3, c. 28 — 30]

27.What (to do) the children now? [2, c. 24 — 25], [3, c. 23 — 26]

28.She (to be) writing a report in the library at that time. [2, c. 24-25], [3, c. 26 —
28]

29.1 (to be) cleaning my room when you come. [2, c. 25 — 26], [3, c. 28 — 30]

30.They (to speak) in the street now. [2, c. 24 — 25], [3, c. 23 — 26]

31.The doctor (to be) examining the patients at 10 o'clock yesterday. [2, c. 24-25],
[3, c. 26 — 28]

32.He (to be) taking a walk in the park at 10 o'clock. [2, c. 25 — 26], [3, c. 28 —29]

33.They (to play) football there now. [2, c. 24 — 25], [3, c. 23 — 26]

34.Their daughter (to be) going to be a nurse. [2, ¢c. 24 — 25], [3, c. 23 — 26]

35.They (to be) flying to America at this time on Saturday. [2, c. 25 — 26], [3,
c. 28 -29]

36.Why she (to cry) now? [2, c. 24 — 25], [3, c. 23 — 26]

37.They (to be) talking about that day's weather. [2, c. 24-25], [3, c. 26 — 28]

38.1 (to be) skating the whole day tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

39.Where you (to go) now? [2, c. 24 — 25], [3, c. 23 — 26]

40.We (to be) preparing for the English examination the whole day. [2, c. 24-25],
[3, c. 26 — 28]

41.We (to be) working hard this time tomorrow. [2, c. 25 — 26], [3, ¢. 28 — 30]

42.(to be) you answering the teacher's questions now? [2, c. 24 — 25], [3, ¢. 23 -
26]

43.My brother (to speak) over the telephone when | came in. [2, c. 24-25], [3,
C. 26 — 28]

44.She (to be) taking a music lesson at 10 o'clock on Sunday. [2, c. 25 — 26], [3,
c. 28 — 30]

45.(to be) your friends playing chess now? [2, c. 24 — 25], [3, ¢. 23 — 26]

46.The mother (to be) knitting a pullover when her little son broke a new cup. [2,
c. 24-25], [3, c. 26 — 28]

47.They (to build) a new club when you are in the country in summer. [2, c. 25—
26], [3, c. 28 — 30]

48.(to be) your father (to look) through the newspapers now? [2, c. 24 — 25], [3,
c. 23 — 26]

49.(to be) you having tea when your parents came home from work? [2, c. 24-25],
[3, c. 26 — 28]

50.The boys (to play) football when you come home. [2, c. 25 — 26], [3, ¢. 28 —30]
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51.(to be) the dog barking in the yard now? [2, c. 24 — 25], [3, c. 23 — 26]

52.(to be) you (to do) your home task when they came home? [2, c. 24-25], [3,
C. 26 — 28]

53.He (to ski) at 5 o'clock tomorrow. [2, c. 25 — 26], [3, c. 28 —30]

54.(to be) you doing your homework now? [2, c. 24 — 25], [3, c. 23 — 26]

55.What (to be) you doing when your parents came home from work? [2, c. 24 —
25], [3, c. 26 — 28]

56.What you (to do) at 10 a.m. tomorrow? [2, c. 25 — 26], [3, ¢. 28 —30]

57.(to be) the sun (to shine) in the sky? [2, c. 24 — 25], [3, c. 23 —26]

58.1t (to rain) at that time on Sunday. [2, c. 24-25], [3, c. 26 — 28]

59.What your friend (to do) when you come to him tomorrow? [2, c. 25 — 26], [3,
c. 28 -29]

60.(to be) you (to listen) to the radio now? [2, c. 24 — 25], [3, c. 23 —26]

[1, c. 15]
1. Fill the gaps:

The cycle of biogenic elements and primary production in the principal types
of and ecosystems have been studied. It has been demonstrated that
1) volume of primary production on land is approximately double
that of the total production of the world ocean and that the productivity of tropical
forests is particularly high. The earth’s surface is photographed in the visible and

infrared regions of the spectrum from spacecraft in order 2) the
biomass reserves in terrestrial ecosystems. Research on the utilization of organic
matter synthesized by autotrophs has shown that on land only 3) of

organic matter is used directly by herbivorous animals, while the bulk of it, in the
form of dead plant tissue, is consumed by saprophagous and saprophytic
organisms. In addition to feeding links, other links exist between organisms in
ecosystems, particularly those involving metabolic products released by organisms
into the 4) . They are being actively studied in both terrestrial and 5)
ecosystems.

The study of the biosphere as a whole is particularly important,
6) the determination of primary production and decomposition
worldwide and the 7) of biogenic elements. These problems can only
8) through the concerted efforts of scientists from various countries.

9) of the phenomena studied by modern ecology explains its
extensive ties with numerous natural and humanistic sciences. Population ecology
10) genetics, physiology, ethology, biogeography, taxonomy, and
demography.
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A) Global cycle, B) environment, C) involves, D) a small portion, E) the total,
F) to evaluate, G) be solved, H) the diversity, I) aquatic, J) including

4.3. I'pamaTtuyHi 3aBJaHHS 10 MOIYJIbHOI KOHTPOJIbHOI podoTtu Moayst 3M-I13.

Module control work Ne3

[2, c. 26 — 28], [3, ¢. 30 — 40]

I. Grammar Test (Yacu I'pynn Perfect)

Put the right form of the verb:

1.
2.

9.

Next month | (to know) Rick for twenty years. [2, c. 27-28], [3, c. 38 — 40]
Alan and Chloe are both down with the flu. Thank God I (not to caught) it from
them. [2, c. 26-27], [3, c. 30 — 35]

After they (to enter) the church, they stood quietly for a moment, adjusting their
eyes to the dim light. [2, c. 27], [3, c. 35 — 38]

By the time we got to the shopping center it (to close). [2, c. 27, c. 32], [3,
c. 3538, c. 47-55]

Don’t worry! By the time we meet again, all your problems (to solve). [2, c. 27-
28, 32], [3, c. 30 — 35, c. 47-55]

A machine (to invent) which will make you invisible for 48 hours. How would
you want to spend these two days? [2, c. 26-27, c. 32], [3, ¢. 38 — 40, c. 47-55]
You are a human dynamo, | (to see) never you waste a minute. [2, c. 26 — 27],
[3, c. 30 — 35]

The tourists hope that the tornado (to finish) before they arrive in California. [2,
c. 27-28], [3, c. 38 — 40]

When | came back home, my family (to have) already had dinner and were now
watching the film. [2, c. 27], [3, c¢. 35 — 38]

10.The 10.30 flight to Greece (to delay). [2, c. 26-27, 32], [3, c. 30 — 35, c. 47-55]
11.The waiter served the food, which (to cook) by the best chef in Paris. [2, c. 27,

32], [3, c. 35 — 38, c. 47-55]

12.1 hope that the report (to write) by 5 o’clock tomorrow. [2, ¢. 27-28, ¢. 32], [3,

c. 38 -40, c. 47-55]

13.You (to do) your homework by seven o’clock? [2, c. 27-28], [3, ¢. 38 — 40]
14.Helen got off the bus and walked into the bank when she realized that she (to

leave) her handbag on the bus. [2, c. 27], [3, c. 35 — 38]
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15.1 (to be) to London this year. [2, c. 26-27], [3, c. 30 — 35]

16.They (not to finish) their work yet. [2, c. 26-27], [3, ¢. 30 — 35]

17.Your mother already (to come)? [2, c. 26-27], [3, ¢. 30 — 35]

18.When she got to the shop, it (to close). [2, c. 27], [3, c. 35 — 38, ¢. 47-55]

19.Nick (return) from office by seven o'clock. [2, c. 27], [3, c. 35 — 38]

20.We (to build) a new house by the end of the year. [2, c. 27-28], [3, c. 38 — 40]

21.She (to do) already the work. [2, c. 26 — 27], [3, c. 30 — 35]

22.1 had to buy a new pen because I (to lose) the old one. [2, c. 27], [3, c. 35 — 38]

23.He (to pass) his examinations before you return from Kyiv. [2, ¢. 30 — 31], [3,
c. 38 — 40]

24.The postman (to bring) us two letters from our relatives. [2, ¢c. 26 — 27], [3,
c. 30— 35]

25.The last electric train (to go) when we got to the station. [2, c. 27], [3, ¢. 35—
38]

26.The expedition (to leave) for the North by April. [2, c. 30 — 31], [3, c. 38 — 40]

27.1 (to wash) just the dishes. [2, c. 26 — 27], [3, ¢. 30 — 35]

28.After | (to leave) for work | remembered that | (to forget) to ring you up. [2,
c. 27], [3, c. 35— 38]

29.1 (to give) the final answer by three o'clock. [2, c. 30 — 31], [3, c. 38 — 40]

30.We (to write) a long dictation. [2, c. 26 — 27], [3, ¢. 30 — 35]

31.We (to collect) our things and got into the bus before it started raining. [2,
c. 27], [3, c. 35— 38]

32.She (to look) up the new words in the dictionary before you come. [2, c. 30 —
31], [3, c. 38 — 40]

33.Ann (to leave) just the house. [2, c. 26 — 27], [3, c. 30 — 35]

34.What you (to do) before you left the house? [2, c. 27], [3, c. 35 — 38]

35.We (to leave) the Institute by five o'clock tomorrow. [2, ¢. 30 — 31], [3, c. 38 —
40]

36.The children (to clean) already the room. [2, c. 26 — 27], [3, c. 30 — 35]

37.By what time you (to do) your homework yesterday? [2, c. 27], [3, c. 35 — 38]

38.1 (to return) the book to the library by this time on Sunday. [2, c. 30 — 31], [3, c.
38 —40]

39.1 (to show) him my collection of stamps. [2, c. 26 — 27], [3, ¢. 30 — 35]

40.What did you do after you (to do) your homework? [2, c. 27], [3, c. 35 — 38]

41.The girls (to do) the room before their mother comes home. [2, c. 30 — 31], [3,
c. 38 — 40]

42.The teacher (to open) the window to air the room. [2, ¢. 26 — 27], [3, ¢. 30 — 35]

43.What you (to do) before you went to bed? [2, c. 27], [3, c. 35 — 38]

44.My elder brother (to translate) the text by 10 o'clock. [2, c. 30 — 31], [3, c. 38 —
40]

45.The mother (not to prepare) breakfast yet. [2, c. 26 — 27], [3, c. 30 — 35]
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46.Where you (to live) before your family moved to this place? [2, c. 27], [3,
c. 35— 38]

47.We (to prepare) supper before you come from work. [2, c. 30 — 31], [3, c. 38 —
40]

48.1 (not to do) my home task yet. [2, ¢c. 26 — 27], [3, c. 30 — 35]

49.Last week we discussed the performance which we (to see) at our drama
theatre. [2, c. 27], [3, c. 35— 38]

50.1 (to write) the report by this time tomorrow. [2, ¢. 30 — 31], [3, c. 38 — 40]

51.Ann (not to be) to Kyiv yet. [2, ¢c. 26 — 27], [3, ¢. 30 — 35]

52.The mother (to prepare) dinner by 3 o'clock. [2, c. 27], [3, c. 35— 38]

53.The pupils of our form (to pass) the exam in English by 12 o'clock. [2, c. 30 —
31], [3, c. 38 —40]

54.She (not to learn) this poem by heart yet. [2, ¢. 26 — 27], [3, ¢. 30 — 35]

55.My friend told me a lot of interesting he (to see) in London. [2, c. 27], [3,
c. 35-38]

56.The teacher (to check) up our tests by that time. [2, c. 30 — 31], [3, c. 38 — 40]

57.1 (not to finish) my work yet. [2, c. 26 — 27], [3, c. 30 — 35]

58.She showed me the new dress she (to sew) herself. [2, c. 27], [3, c. 35 — 38]

59.The expedition (to leave) for the South by September. [2, c. 30 — 31], [3, c. 38 —
340]

60.She (to write) the test already. [2, c. 26 — 27], [3, ¢. 30 — 35]

[1, c. 17]
1. Fill the gaps:

Nitrogen is also required by all organisms but cannot be used by most in the
gaseous form. Nitrogen fixation, the conversion of N2 gas into a biologically 1)
, occurs in some species of bacteria and cyanobacteria or may be
caused by lightning.

Atmospheric gases are important in 2) the climate and the
light environment. Absorption of electromagnetic radiation by the atmosphere
determines the spectrum of light reaching the Earth's surface. Absorption and
reflectance of infrared radiation by 3) such as C02 and water vapor
regulate temperature.

Among other environmental factors determining the range and distribution
and form of organisms are mechanical stimuli such as wind or water
4) , and the presence of metals, inorganic nutrients, and toxins in the
air, soil, or food.

The biotic environment of an individual is 5) of members of
the same or other species. Intraspecific interactions involve the need to breed with
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other individuals, to gain protection through living in a group, and to compete for
6) such as food, light, nutrients, and space.

Humans alter their environment in ways that exceed the impact of all other
organisms. For example, the 7) of greenhouse gases into the
atmosphere contributes to 8) over the entire planet. This in turn has
impacts on the distribution of all other species. The release of pollutants into the
environment brings organisms into contact with stresses to which they were not 9)
exposed. This the evolution of new varieties, eventually perhaps new
10) , adapted to the polluted environments.

A) Greenhouse gases, B) previously, C) resources, D) made up, E) movement,
F) species, G) determining, H) release, 1) useful form, J) climate alterations.

4.4. 'paMaTryH1 3aBJAHHS 10 MOYJIbHOI KOHTPOJIBHOI poO0TH Motyist 3M-114.

Module control work Ne4

[2, c. 24 -26], [3, c. 40 — 44]

I. Grammar Test (Uacu I'pynu Perfect Continuous)
Put the right form of the verb:

1. A fine rain (to fall) steadily since six o’clock and there is a dark mist on the
river. [2, c. 28-30], [3, c. 40 — 43]

2. Andrew, who is English, (to live) in New York for seven years when we met.
[2, c. 30], [3, c. 43 — 44]

3. He said that he (to wait) his article for 3 days when | arrived. [2, c. 30], [3,
C. 43 —44]

4. He said that he (to write) a letter for 2 hours when | came. [2, c. 30], [3,
C. 43 —44]

5. Emma, who (to listen) attentively, knew with absolute certainty that he was
speaking the truth. [2, c. 30], [3, c. 43 — 44]

6. Nextyear | (to live) in Kyiv for thirty years. [2, c. 30-31]

7. She (choose) some dairy products: butter, cheese, milk and cream for 20
minutes. [2, c. 28-30], [3, c. 40 — 43]

8. A surgeon felt tired because he (to work) hard all day. [2, c. 30], [3, c. 43 —
44]

9. My father (to work) at this theatre for twenty years by 2021. [2, c. 30-31]

10.My mother (to read) a cookbook for a month. [2, c. 28-30], [3, c. 40 — 43]
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11.1 (to wait) for a bus for half an hour before it arrived. [2, c. 30], [3, c. 43—
44]

12.She (to wait) for this comedy for a month before it is on the repertoire of the
theatre. [2, c. 30-31]

13.A chemist (to make) a medicine for an hour before it was ready. [2, c. 30], [3,
c. 43 —44]

14.We (to talk) about fruits, which are sold at the greengrocery shop for 15
minutes. [2, c. 28-30], [3, c. 40 — 43]

15.At the market my mother (to choose) potatoes, carrots, beetroots, onion,
tomatoes, cucumbers and cabbage for an hour. [2, c. 28-30], [3, c. 40 — 43]

16.His father (to work) at this hospital for 25 years before he retired. [2, c. 30],
[3, C. 43 —44]

17.1 (to work) on this report about our famous actors for two hours before my
sister comes. [2, c. 30-31]

18.We (to play) tennis for three hours already yesterday when it started raining.
[2, c. 30], [3, c. 43 — 44]

19.Tom (to read) books about the theatre for several years before he becomes an
expert. [2, c. 30-31]

20.1 (to look for) this journal since the very morning. [2, c. 28 — 30], [3, c. 40 —
43]

21.She (to write) a composition for an hour already. [2, c. 28 — 30], [3, c. 40 —
43]

22.The young man (to work) at the laboratory for two years before he decided to
enter the University. [2, c. 30], [3, c. 43 — 44]

23.How long your sister (to study) at school? [2, ¢. 28 — 30], [3, c. 40 — 43]

24.1 (to read) an interesting book since | returned home. [2, c. 28 — 30], [3,
c. 40 —43]

25.We (to pack) up our things for two hours when it was time to go to the
railway station. [2, c. 30], [3, c. 43 — 44]

26.How long you (to do) these exercises? [2, ¢. 28 — 30], [3, c. 40 — 43]

27.My brother (to work) at English translation since the very morning. [2,
c. 28 —30], [3, c. 40 — 43]

28.The scientist (to work) at the experiment for about a year before the problem
was solved. [2, c. 30], [3, c. 43 — 44]

29.1t (to rain) since the very morning? [2, c. 28 — 30], [3, c. 40 —43]

30.He (to suffer) from a headache all day long. [2, c. 28 — 30], [3, c. 40 — 43]

31.They (to sail) for about a month when they saw a small island. [2, c. 30], [3,
c. 43 - 44]

32.Have (to live) in this town for 5 years? [2, c. 28 — 30], [3, c. 40 — 43]

33.We (to gather) mushrooms ever since sunrise. [2, ¢. 28 — 30], [3, c. 40 — 43]

34.1t (to snow) all day when I left home. [2, c. 30], [3, c. 43 — 44]

35.1 (to translate) this difficult article for two hours before you come. [2, ¢. 30 —
31]
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36.1 (to listen) to the music since 5 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

37.1 (to dust) the room for half an hour when my mother came home. [2, c. 30],
[3, . 43 — 44]

38.He (to skate) with his friends for more than an hour before his parents come
home. [2, c. 30 — 31]

39.My friend (to train) his dog for 3 years already. [2, c. 28 — 30], [3, c. 40 —43]

40.She (to wait) for forty minutes before the taxi came. [2, c. 30], [3, c. 43 — 44]

41.They (to listen) to the music for some time when you ring them up. [2, c. 30
—31]

42.The gardener (to sort) the apples since morning. [2, c. 28 — 30], [3, c. 40 —
43]

43.The girl (to listen) to the music for two hours before her brother brought her
an interesting book from the library. [2, c. 30], [3, c. 43 — 44]

44.\We (to travel) by sea for several weeks before you join us. [2, c. 30 — 31]

45.The children (to play) football since the mother came home. [2, c. 28 — 30],
[3, c. 40 —43]

46.What she (to do) for two hours when her friend came to her? [2, c. 30], [3,
c. 43 - 44]

47.The young man (to make) the plan of the journey for some hours by 6 o'clock
in the evening. [2, c. 30], [3, c. 43 — 44]

48.My elder brother (to play) football since the childhood. [2, c. 28 — 30], [3,
c. 40-43]

49.She (to read) a book for an hour before her mother came home. [2, c. 30], [3,
c. 43 — 44]

50.She (to listen) to the music for 40 minutes before her brother comes home
from school. [2, c. 30 — 31]

51.The boy (to do) his homework for 2 hours already. [2, c. 28 — 30], [3, c. 40 —
43]

52.How long you (to learn) English? [2, c. 28 — 30], [3, c. 40 — 43]

53.She (to listen) to the music for some time by 12 o'clock. [2, c. 30 — 31]

54.The pupils (to write) a dictation for 40 minutes. [2, c. 28 — 30], [3, c. 40 — 43]

55.How long you (to read) this book? [2, c. 28 — 30], [3, c. 40 — 43]

56.0ur family (to live) in this house for 10 years. [2, c. 30 — 31]

57.My mother (to prepare) dinner since 11 o'clock. [2, c. 28 — 30], [3, c. 40 — 43]

58.Do you play chess? How long you (to play) it? [2, ¢. 28 — 30], [3, c. 40 — 43]

59.They (to build) this bridge by the end of the year. [2, c. 30 — 31]

60.The girls (to watch) TV since they came home. [2, c. 28 — 30], [3, c. 40 — 43]
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[1, c. 16]

1. Fill the gaps:

Environment is 1) of all external factors, both biotic (living)
and abiotic (non-living), to which an organism is exposed. Biotic factors include
influences by members of the same and other species on 2) and

survival of the individual. Primary abiotic factors are light, temperature, water,
atmospheric gases, md ionizing radiation, influencing the form and
3) of the individual.

For 4) environmental factor, an organism has a tolerance
range, in which it is able to survive. The intercept of these ranges constitutes the
ecological niche of the organism. Different individuals or species have different
tolerance ranges for particular environmental factors — this variation
5) the adaptation of the organism to its environment. The ability of
an organism to modify its tolerance of certain environmental factors in response to
a change in them represents 6) of that organism.

The spectrum of electromagnetic radiation reaching the Earth's surface is
determined by the absorptive 7) of the atmosphere. Biologically, the
most important spectral range is 300-800 nanometers, incorporating ultraviolet,
visible, and infrared radiation. Visible light provides the energy source for most
forms of life. Light absorbed by pigment molecules (chlorophylls and carotenoids)

is converted into chemical energy through 8) . Light availability is
especially important in determining the distribution of plants. Photosynthetic
organisms can 9) within a wide range of light intensities. Full

sunlight in the tropics is around 2000 photons. Photosynthetic organisms have
survived in 10) ¢ where the mean light is as low as 0.005% of this value.

A) The plasticity, B) represents, C) the sum, D) photosynthesis, E) exist, F) each,
G) the development, H) locations, 1) function, J) properties
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4.5. TecTOBi 3aBJaHHS /10 3aJ1iKOBOI KOHTPOJILHOI po0OTH.

[2, c. 20 — 32, 61], [6, c. 10 — 66]

Credit test

1 term

MaricTpu. 3amikoBa pooora I kypc I cemectp
Open the brackets, using the verb in the right tense form:

1. By next morning, the snow that began in the night (to turn) into a blizzard so
thick that the last class of the term was cancelled. [2, c. 27]

2. Most companies (to limit) severely their dumping of pollutants. [2, c. 23]
3. If you are successful, people (to forgive) you practically everything. [2, c. 23]
4. Customers (to advise) to buy their tickets in advance. [2, c. 21-22, 32]

5. When they got to their dacha, they discovered that water (to leak) through the
roof. There were pools on the floor. [2, c. 30]

6. On a clear day, you (to see) the shores of Haiti and Cuba from the summit of
Blue Mountain Peak. [2, c. 23]

7. | placed the tray in the middle of the kitchen table and (to begin) to methodically
chop an egg. [2, c. 22-23]

8. Will you (to arrange) everything by tomorrow? [2, c. 27-28]

9. English people say that you (to hang) the horseshoe with its ends up, lest good
luck should fall out. [2, c. 21-22]

10. We (to run) out of sugar. Ask Mrs. Smith to lend us some. [2, c. 26-27]

11. Will you (to use) till the computer when | come back to the office after lunch?
[2, c. 25]

12. This event (not to forget) very quickly. [2, c. 23, 32]
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13. Many new houses (to build) in our town nowadays. [2, c. 24-25, 32]
14. The guard noticed at once that the safe (to break). [2, c. 27, 32]

15. When Ann turned on the television, the weatherman (to give) the weekend
forecast for Europe. [2, c. 24-25]

16. The new tax (to introduce) last year, but the Parliament boycotted. [2, c. 27, 32]

17. She knew that with Frank in Venice, for a few days she (to shake) his
depression, and recharge his batteries completely. [2, c. 61-62]

18. Have you made any change in your life recently? What (to do) since that
change took place? [2, c. 28-30]

19. The votes (to count) by midnight? [2, c. 27-28, 32]

20. We were told that the teacher (to correct) our papers by the beginning of the
lesson. [2, c. 61]

21. The quietness of the house (to break) by the children’s driving their toy cars on
the floor. [2, c. 27, 32]

22. By the time the manager turns up, the customers (to wait) for him for several
hours. [2, c. 30-31]

23. He didn’t know where he (to take) at the moment. [2, c. 24-25, 32]

24. There was a fair in our little town and we put on red silk robes and painted our
faces red. | (to tell) people’s fortunes. [2, . 22-23]

25. The new manager (to entrust) with a most difficult task. [2, c. 22-23, 32]
26. Wisdom (to come) with age. [2, c. 21-22]

27. The lost children just (to find) in the park. [2, c. 26-27, 32]

28. You (to look) so very healthy at the moment. [2, c. 24-25]

29. On Sunday morning, after she (to drink) a quick cup of coffee, Vanessa dialed
the Commodore Hotel. [2, c. 27]

30. — Can | let you in on a little secret? — Why not? You (to tell) me your secrets
since you were eight. [2, c. 29-30]
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31. Let us wait till the fax (to arrive). [2, c. 24-25]
32. | remembered that you (to promise) me to come in time. [2, c. 27]

33. For a second she (to hesitate) as if she were taking the last chance to refuse. [2,
c. 22-23]

34. 1 (to leave) some money in order to help them. [2, c. 23]

35. Two-piece swimsuits (to name) after a Pacific atoll on which hydrogen bombs
were detonated — a truly explosive and figurative word. [2, c. 21-22, 32]

36. | promised Emma | (to help) her to decorate the fur-tree. [2, c. 61]
37. Andrew feels all right now. He (to operate) on a month ago. [2, c. 22-23, 32]
38. When he is forty, he (to learn) English for twenty five years. [2, c. 30-31]

39. The noise was caused by a dog, which (to chase) a cat through the garden. [2,
C. 24-25]

40. These data (to collect) by the end of the year. [2, c. 27-28, 32]
41. Yesterday | (to return) home late in the evening. [2, c. 22-23]
42. Nik already (to get) ticket for the concert? [2, c. 26-27]

43. What your farther (to do) at the moment? [2, c. 24]

44. She (to be) a typist for our firm since 2015 and she (to work) here for three
years. [2, c. 28-30]

45. | (to graduate) from the university five years ago. [2, c. 22-23]

46. She (to phone) you today in the morning. [2, c. 26-27]

47. When he (to get) to the station last week the train already to leave. [2, c. 22-23,
c. 27]

48. Look! He (to try) to find his watch. [2, c. 24]

49. My sister just (to make) some sandwiches. [2, c. 26-27]

50. You ever (to be) to Iceland? [2, c. 26-27]
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51. I don’t know where my sister (to be) now. [2, ¢. 21-22]

52. Maybe she (to sit) in the garden now. [2, c. 24-25]

53. Don’t tease the dog! It (to bite) you. [2, C. 23]

54. | think the weather (to be) fine tomorrow. [2, c. 23]

55. Look at this child. He (to notice) everything immediately. [2, c. 24-25]

56. She will give him your message tomorrow as soon as she (to see) him. [2, c.
23]

57. 1 met them when they (to run) round the park. [2, c. 24-25]
58. It is dark now. The sun not to rise yet. [2, C. 26-27]

59. The day before yesterday he told me that he (not to come) home by seven
o’clock on Sunday. [2, c. 27]

60. What you (to achieve) by the year 2025. [2, c. 27-28]

61. Look the emergency services (to remove) the sand which oil (to cover). [2,
C. 24-25, c. 26-27]

62. After he (to work) for ten hours, he came home and fell asleep. [2, c. 30]
63. You (not to read) my project yet? [2, c. 26]

64. In three years , his parents (to be married) for twenty years. [2, c. 28-30]
65. The number of cars (to rise) by fifty-eight per cent since 1973. [2, c. 26-27]

66. We are glad to know that our relatives (to arrive) by the New Year. [2, c. 27-
28]

67. My friend asked me to explain him a new rule because he (not to understand)
it. [2, c. 27]

68. Why my things (not to back) pack yesterday. [2, c. 22-23, ¢. 32-33]

69. The equipment just (to deliver). [2, c. 26-27, c. 32-33]
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70.

71.

72,

73.

74,

75.

76.

77.

78.

79.

80.

Our cafe (to visit) by a lot of people. [2, c. 21-22, c. 32-33]

This poem (to learn) by heart by me. [2, c. 24-25, c. 32-33]

His adventures (to describe) in his book. [2, c. 22-23, c. 32-33]

His decisions always (to approve) by her. [2, c. 21-22, c. 32-33]

He said his wallet (to steal) by somebody. [2, c. 27, c. 32-33]

The newspaper (to publish) at the moment. [2, c. 24-25, c. 32-33]

The agreement (to reach) by them tomorrow. [2, c. 27-28, c. 32-33]

The bicycle (to repair) by my farther at 7 o’clock. [2, ¢. 24-25, c. 32-33]
The dog already (to take) for a walk. [2, c. 26-27, c. 32-33]

All the books (to leave) at home by me yesterday. [2, c. 26-27, ¢. 32-33]

His honesty (to acknowledge) by all. [2, c. 22-23, c. 32-33].
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Il cemecTp

2. MIPOTPAMA HABYAJIbHOI JUCLUILITHUA

2.2. llpaktuuni moaymi |l cemectpy

KinpkicTs roauu

Kon Ha3zBa Mmoyns ta rem aytopri | CPC
3M- 12,5| 14,17
15 | 1. @) The Ecosystem. Famine and Flood. 25 25
b) Ilepeknan Tekcry 3a daxom (8000 mp. 3HAKIB) 2,5 2,5
¢) Iepexnaz cycHiabHO-TIOJITHYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Infinitive 4 3
2. MonynpHa KOHTponbHA poboTa Ne 5 1 4
3M- 12,5| 14,17
I16 | 1. a) Global Warming. Kyoto Revisited. 2,5 2,5
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) Ilepekia cycniIbHO-TIOTITHYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Gerund 4 3
2. MoaynsHa KOHTpOJbHA poboTa Ne 6 1 4
3M- 12,5| 14,15
I17 | 1. a) Natural Wonders of the World. 2,5 2,5
b) Ilepexmnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) llepekian cycniabHO-TIOITUYHOTO TEKCTY 2,5 2,15
(2500 mp. 3HAKIB)
d) Grammar: The Participle 4 3
2. MonynpHa KOHTposibHA podoTa Ne 7 1 4
3M- 12,5| 14,17
I18 | 1. a) Decision-making on the Solution of Ecological | 2,5 2,5
Problems.
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
c) Ilepexnan cycniibHO-TIOITHYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: The Conditional Sentences 4 3
2. MonynsHa KOHTposibHA poboTa Ne 8 1 4
3M- 12,5| 14,17
I19 | 1. a) Strategy of National Ecological Policy of 2,5 2,5
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Ukraine Until 2020.
b) Ilepexnan Tekcry 3a paxom (8000 ap. 3HAKIB) 2,5 2,5
¢) Ilepexnan cycibHO-TIOITHYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: Indirect speech 4 3
2. MonynpHa KOHTposibHA poboTta Ne 9 1 4
3M- 125 14,17
I110 | 1. a) State ecological monitoring. 2,5 2,5
b) Ilepeknan Tekcry 3a daxom (8000 mp. 3HAKIB) 2,5 2,5
c) Ilepekian cycniibHO-TIOTITUYHOTO TEKCTY 2,5 2,17
(2500 mp. 3HAKIB)
d) Grammar: Subjunctive mood. Revision. 4 3
2. MonynpHa KOHTpobHA podoTta Ne 10 1 4
Icriut 20
75 105
Paszowm:
Koncynprarmii:

3. II’sroBa [3abemna FOpiiBHa, k. dimon. Hayk, gomeHT, moHeaitok 9.00 — 13.00,
aynutopis 607.;

4. Kynenina Onsra FOpiiBHa, cT. Bukiangay, BisTopok 9.00 — 13.00, ayautopis
607.

2.3. CamocrTiiiHa poboTa cTyZieHTa Ta KOHTpOJibHI 3axoau y |l cemecTpi

Kon ) KinekicTh Crpok
3aBnanHa Ha CPC Ta KOHTPOJIbHI 3aX0/IU
MOTYJISI TOJIMH | MPOBEACHHS
3M-II5 14,17 1-3
THXKIEHD
o [linroToBKa /10 YCHOTO OMUTYBaHHS, 5 1 THxKIEeHDb

MIJTOTOBKA IpaMaTUYHO1 TEMHU Ta IMArOTOBKA
JIOMaITHHOTO YMTAHHS

o [limroToBKa 10 BUKOHAHHS MOJYJIHHOI 4 2 THKIEHD
KOHTPOJIbHOT po6oTH Ne 5 (000B’s13K0BE)

Koumponwni 3axoou:

e YCHe ONUTyBaHHS 2,17 2 THOKIEHD

o [lepeBipka MMCbMOBO BUKOHAHUX CIHUCKIB 2 3 TUXKIEHb
HE3HAHOMUX CIIIB Ta iX MepeKsIa Ajisl YCHOTO
nepexiaay TeKCTIB

o [lepeBipka NMCbMOBO BUKOHAHMX 1 3 TUXKIEHb
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IrpaMaTUYHUX BIIPAB

o MoaynbpHa KOHTPOJIbHA poOoTa Ne 5 3 THKJICHD
3M-I16 14,17 3-5
THXIECHb
o [TigroTOBKA /10 YCHOTO OMUTYBAHHH, S) 3 TUXKICHD
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JIOMAITHBOTO YMTAHHS
e [linroTOBKA 10 BUKOHAHHS MOIYJIBLHOI 4 4 THXIIEHD
KOHTPOJBHOT po6oTH Ne 6 (060B’A3K0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2,17 4 TUXIIEHD
o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB 2 5 TxneHn
HE3HAMOMHMX CJIIB Ta IX MEepPEeKIIa I yCHOTO
MepeKIaay TeKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHUX 1 S TUXKIEHb
IpaMaTHYHUX BIIPaB
e MonaynbHa KOHTpOJIbHA poOoTa Ne 6 S THXKJICHB
3M-I17 14,15 6-8
THXICHb
e [linroTOBKA 10 YCHOTO ONMUTYBaHHS, 5 6 TIKIEHD
M1TOTOBKA IpaMaTUYHO1 TEMHU Ta IMiArOTOBKA
JIOMaNTHHOTO YMTAHHS
* [TigroToBKa 0 BUKOHAHHS MOYJIBHOL 4 { THKJIEHD
KOHTPOJIbHOT po0oTH Ne 7 (000B’SI13KOBE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2,15 { THXKIEHD
« [IepeBipka NMCHbMOBO BUKOHAHUX CITUCKIB 2 8 T eHb
HE3HAMOMHUX CJIIB Ta iX MepeKiaa JIjisl yCHOTO
nepeKIaay TEKCTIB
o [lepeBipka MUCbMOBO BUKOHAHHX 1 8 THXKIeHb
rpaMaTUYHUX BIIPaB
e MonaynbpHa KOHTpOJIbHA poboTa Ne 7 8 TIXJICHb
3M-I18 14,17 8-10
THXICHb
e [linroTOBKA 10 YCHOTO ONMUTYBAHHS, 5 8 THKICHB
MiATOTOBKA TpaMaTUYHOI TEMHU Ta TiArOTOBKA
JIOMAIIIHBEOTO YATAHHS
e [TigroToBKa 0 BUKOHAHHS MOYJIBHOL 4 9 THKICHB
KOHTPOJIbHOT poO6oTH Ne 8 (000B’sI3K0BE)
Konmponwvni 3axoou:
e YCHE ONUTyBaHHS 2,17 9 THXKIEHD
« [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 10 TKIEHb

HE3HAMOMHUX CJIIB Ta IX MepeKIIa I yCHOTO
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NepeKyIaay TeKCTiB

o [lepeBipka MMCbMOBO BUKOHAHUX 1 10 TixneHp
rpaMaTHYHUX BIIPaB
o MoybHa KOHTPOJIbHA poOoTa Ne 8 10 THxAaCHD
3M-I19 14,17 11-13
TIDKJICHD
e [lifroTOBKA 10 YCHOTO ONMUTYBaHHS, 5 11 TKIEHb
M1JTOTOBKA IpaMaTUYHO1 TEMHU Ta IMiATOTOBKA
JTOMAIIIHLOTO YNTAHHS
* [ligroToBKa 10 BUKOHAHHS MOYJIBHOL 4 12 TYKIEHb
KOHTpPOJIbHOT poO6oTH Ne 9 (060B’s13k0BE)
Konmponwvni 3axoou:
e YCHe onuTyBaHHS 2,17 12 THKIEHD
o [lepeBipka MICHMOBO BUKOHAHUX CITHCKIB 2 13 TIKIEHb
HE3HAMOMHUX CJIIB Ta iX MepeKsiaa JIjisl yCHOTO
NepeKIaay TEKCTIB
e [lepeBipka NMCHbMOBO BUKOHAHUX 1 13 THKICHB
rpaMaTHYHUX BIIPaB
MopynbpHa KOHTpOJIbHA poboTa Ne 9 13 THKICHD
3M- 14,17 13-15
1110 TIKJICHD
e [linroTOBKA 10 YCHOTO ONMUTYBAaHHS, 5 13 THKICHB
MIArOTOBKA rPaMaTUYHOI TEMHU Ta MIArOTOBKA
JIOMAIIIHBLOTO YHTAHHS
* [TigroToBKa 10 BUKOHAHHS MOYJIBHOL 4 14 TwKIeHb
KOHTpOJIbHOT po6oTu Ne 10 (060B’s13k0BE)
Konmponwvni 3axoou:
e YCHE ONUTYBaHHS 2,17 14 TvKIEHD
e [IepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB 2 15 THKICHD
HE3HAHOMUX CIIIB Ta iX MepeKIIal Jisl YCHOTO
nepeKsIaay TEKCTIB
o [IepeBipka MMCHbMOBO BUKOHAHUX 1 15 TKIeHb
rpaMaTUYHUX BIIPaB
MonynbpHa KOHTpOJIbHA pob6oTa Ne 10 15 THXIEeHb
[TigroToBKa 10 iCIUTY 20 Cecisa
Konmponwvni 3axoou:
o IciuT
Pazowm: 105

1. MeToavka npoBEAEHHS Ta OIIHIOBAHHS KOHTPOJBHOTO 3axony it 3M-T15.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHB, I1T0 HEOOX1HUH I 3acBoeHHS 3M — I15:

— YUTaTH, NEPeKIIaiaTd Ta nepekasyBaTu Tekctu “The Ecosystem”, “Famine
and Flood”;
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— BHU3HAYHUTH XapPaKTEPUCTUKU BXKMBAHHS Ta MEPEKIIATy TPAMATHIHHUX SBHIIL
3a Temoro «IudiniTUBY (The Infinitive);

— HaBYMTHUCS YTBOPIOBATH Ta BXKUBATH P13HI rpaMaThyHi (GopMH 1H(IHITHURA;

— YWTAaTH, MEPEKIIaIaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (aXxOBOIO
TEMaTHKO¥O.

MakcumanbHa cyma 6aJjiiB 3a 000B’s13k0Bi 3axoau koHTpoaw 3 3M-IIS — 16
oaJiB:

1 3aBnanusg — 14 Oams:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKia
1 — ycHu#t nepexsaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — ynuTaHHA TEKCTY aHTJIIHCHKOI MOBOO
1 — ciucok He3HAMOMHUX CJIiB Ta iX Mmepekian
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmucpbMoOBE BUKOHAHE SUMMary
1 — ycue Summary

d 2(1+1)
1 — mCBMOBUIT KOHCTIEKT MpaBmiI 3a Temoro T he Infinitive
1 — nMCcbMOBO BUKOHAHHI TpaMaTU4Hi BripaBu 3a Temoro The Infinitive

1 3aBnanHs (14 GamiB) He € 000B’I3KOBHM.
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2 3aBnaHHsg — 16 Ganis:

Buxounauug MKP Ne 5

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,53 Gaymm. MopaynbHa KOHTPOJBHA POOOTAa BBAKAETHCS 3apPaXxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 mpaBUIbHUX BiAMOBIIEH.

Axmo 3axoau 000B’A3KOBUX (POPM KOHTPOJIO BUKOHYIOTHCS CTYJIEHTOM
MICJIA CTPOKIB, BU3HAUYCHHUX y MPOTpaMi HaBYAIbHOI JTUCIMIUTIHY, KIJIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MoOke mnepeBuuryBaTd 60% BiJl MaKCHMAaJbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMHU KOHTPOJIIO.

Ominka 3a okpemi (a0o yci) MOyl 3HIXKYETHCS y pa3i MPOMYCKIB 3aHSThH
CTYJCHTOM. 3a KOXKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJISl 3HIXKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYJIUBOI.

MaxkcuMmaibpHa cyma 000B’si3k0BuX OamiB 3 3M-I15 — 16 Gais.

2 3apnanus (16 6aiiB) € 000B’ I3KOBUM.

2. MeToauKa IPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-II6.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH I 3acBoeHHS 3M — I16:

— 4yuTaTH, nepekianati ta nepekadyaru texctu “Global Warming”, “Kyoto
Revisited”;

— BU3HAYATH XapPaKTEPUCTHKU BKMBAHHS Ta MEPEKIIATy TPaMaTUIHHX SBUIIL
3a Temoro «['epynuiii» (The Gerund);

— HABUYUTHUCS yTBOPIOBATH Ta BXXMBATHU PI3HI IpaMaTH4HI (POpPMU TepyHIIs;

— YHUTaTH, IePEKJIaIaTH Ta aHOTOBAHO MEPEKa3yBaTH TEKCTH 3a (haXOBOIO
TEMAaTHUKOIO.

MakcumanabHa cyma 6aJjiiB 3a 000B’13K0Bi 3ax01u KOHTPoJII0 3 3M-II6 — 16
OaJiB:

1 3aBgannasg — 13 OauiB:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta iX Mepekian
1 — ycHu#t nepexiaaa TeKCTy
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1 — nepekas TeKkcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOTO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycae Summary

c) 4(1L+1+1+1)
1 — 9uTaHHA TEKCTY aHTIIHCHKOI0 MOBOO
1 — ciucok He3HAMOMUX CIIiB Ta 1X MEPeKIIay
1 — nuceMoOBe BUKOHaHE Summary
1 — ycae Summary

d) 1(0,5+0,5)
0,5 — nmruchbMOBHIA KOHCIIEKT TIpaBmJI 3a Temoro The Gerund
0,5 — mMcrMOBO BUKOHAHHI TpaMaTU4Hi BIIpaBu 3a TeMoto The Gerund

1 3aBmanHs (13 GaniB) He € 000B’ I3KOBUM.

2 3aBiaHHg — 16 GaiB:

Buxonanug MKP Ne 6

Moy ibHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBnanb. KoxxHe 3aBnaHHA
0,53 OGamm. MopaynbHa KOHTPOJbHAa pPOOOTAa BBAKAETHCA 3apPaXOBAHOIO, SKIIO

HaJaHO MiHIMYM 18 npaBUIBHUX BiAIOBIICH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBYAIbHOI IUCLUUIUTIHHU, KIJIBKICTh OaiB,
0 MOXKE€ OTpUMAaTH CTYAEHT, HE MoOxe mnepeBuiyBatd 60% Big MaKCUMalIbHO

MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOIIO.

Orminka 3a okpemi (200 yci) MOAYJl 3HMKYEThCA Y pa3i MPOMYCKIB 3aHITh
CTyJEHTOM. 3a KOJKHE MPOMYIICHE 3aHATTS 3HIKYEThcs 0,5 Ganu, ajne MiHIMalIbHA
OIIIHKA TICIISl 3HWKEHHA HEe MOke OyTu Hvk4da 60% BiJ MaKCUMaJIbHO MO>KJIABOI.

MaxkcumanbHa cyma 000B’a3K0BUX OaiiB — 16 OariB.

2 3apnanHs (16 GaniB) € 000B’SI3KOBUM.

3. MeTOJII/IKa OPOBCIACHHA Ta OHiHIOBaHHSI KOHTPOJIBHOI'O 3aX04Y JJIA 3M-II7.
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MiHIMaabHUH 00CcAT 0a30BUX 3HAHB, 1110 HEOOX1AHUH JUId 3acBoeHHS 3M — I17:

— 4yTatd, nepekiagatu ta nepekasyBatu Texctm “Natural Wonders of the
World”;

— BH3HAYATHU XAPAKTCPUCTUKHU B KUBAHHA TA IICPCKIIAAY I'PaMATHYHUX SABHUII 34
temoro Participle | ta Participle Il;

— HaBUYUTHCS YTBOPIOBATHU Ta B:KUBaTH pi3Hi popmu Participle I ta II;

— YHUTaTH, IEPEKIIaaTH Ta aHOTOBAHO MEePeKa3yBaTH TEKCTH 3a (PaXOBOIO
TEMaTHUKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’I3K0Bi 3ax0au KoHTpoJ0 3 3M-II7 — 17
0aJiB:

1 3aBmaHHsa — 13 GaiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HaMOMMX CIIIB Ta 1X MepeKiIaa
1 — ycHull nepekaa TEKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKial
1 — nmucpbMOBE BUKOHAHE SUMMary
1 — ycue Summary

c) 4(1L+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOO
1 — ciucok He3HAMOMMX CIIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — michbMOBHI KOHCIIEKT TIPaBHJI 3a TeMoto The Participle
0,5 — mMcHrMOBO BUKOHAHHI TpaMaTUYHI BITpaBu 3a TeMoto The Participle

1 3aBnanus (13 6aniB) HEe € 000B’ I3KOBUM.
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2 3aBaausg — 17 OamiB:

Buxonanug MKP Ne 7

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxHe 3aBmaHHsS
0,57 ©OamiB. MoaynbHa KOHTpPOJIbBHA pOOOTa BBAXKAETHCS 3apaXxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 npaBUIHLHUX BiAMOBIICH.

Sxmo 3axoaw 0OOB’SI3KOBUX (HOPM KOHTPOJIO BUKOHYIOTHCS CTYICHTOM
MICJIA CTPOKIB, BU3BHAUYCHHUX y MPOTpaMi HaBYAIbHOI TUCIMIUTIHYU, KIJTIBKICTh OaliB,
0 MOXK€ OTpUMAaTH CTYACHT, HE MOxe mnepeBulryBatd 60% Binx MakCHUMalIbHO
MOXJIMBOI1 JUIs 11i€1 HOPMU KOHTPOJIIO.

Ominka 3a okpemi (abo yci) MOIyJl 3HHXKYETHCS y pa3i MPOIYCKIB 3aHATH
CTYJCHTOM. 3a KOXKHE MPONYIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanu, aje MiHIMaibHa
OIliHKA MICJIsl 3HXKEHHS HEe MOXe OyTH Hux4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.

MakcumanbHa cyMa 000B’s13k0Bux 0aniB 3 3M-I17 — 17 Ganis.

2 3aBaanHs (17 6amiB) € 000B’ I3KOBUM.

4. MeToauKa IPOBEJICHHS Ta OHiHI-OBaHHH KOHTPOJIBHOI'O 3aX04y JJIA 3M-II8.

MiHiMaabHUH 00CcAT 0a30BUX 3HAHD, 1110 HEOOX1AHM 11 3acBoeHHS 3M — [18:

— 4UTaTH, MEepeKiIagaTh Ta mnepekasyBatu Tekctu “‘Decision-making on the
Solution of Ecological Problems”;

— BU3HAYaTH XapaKTCPUCTUKU BXKUBAHHS Ta MMEPEKIaly IpaMaTHYHUX SBHII]
3a temoro Conditional Sentences (Type O, I, 11, 11);

— HaBUYHUTHCS yTBOproBatu Ta BxkuBatu Conditional Sentences (Type O, I, 11,
[1).

— YHTaTH, IepeKIagaTH Ta aHOTOBAHO MEepeKa3yBaTH TEKCTH 3a (PaxoBOIO
TEMAaTHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’SI3K0Bi 3ax0au KOHTpoJ0 3 3M-II8 — 17
oaJiB:

1 3aBmanHyg — 13 OGaiis:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
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1 — cnucok He3HAOMUX CJIIB Ta IX MEpeKIaj
1 — ycHuli nepekiaaa TEKCTy
1 — nmepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTIIIHCHKOI0 MOBOTO
1 — cicok He3HAHOMUX CIIIB Ta iX TepeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary

c) 4(1+1+1+1)
1 — yuTaHHSA TEKCTY aHTJIIHCHKOK MOBOIO
1 — cricok He3HAHOMMX CJIiB Ta iX MepeKIIa
1 — nmuceMoOBe BUKOHaAHE Summary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — muceMoBHIT KOHCIIEKT mpaBui 3a Temoro Conditional Sentences (Type O, I, 11,

1)

0,5 — mMChbMOBO BMKOHAHHI rpaMaTH4HI BIpaBH 3a Temoro Conditional Sentences
(Type O, I, 11, 111)

1 3aBmanHs (13 OamiB) He € 000B’I3KOBHM.

2 3aBnanHasg — 17 Ganis:

Buxounanng MKP Ne 8

MoynbHa KOHTpOJIbHA poboTa ckianaetses 3 30 3aBnanb. KoxHe 3aBnanHs
0,57 ©OamiB. MojaynbHa KOHTpOJIbHA pOOOTa BBAKAETHCS 3apaXxOBAHOIO, SKIIO
HaJaHO MiHIMYM 18 npaBMIBHKUX BiJIMOBIIEH.

Axmo 3axoau 000B’S3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYICHTOM
MICTIsl CTPOKIB, BU3HAYCHUX y TIPOTpaMi HaBYAIBHOI IUCIUIUTIHU, KITBKICTh OaiB,
[0 MOXKE€ OTpUMATH CTYACHT, HE MOke mepeBuiyBaTd 60% Bil MaKCHMAaJbHO
MOXJIMBOI1 JUIs 11i€1 (HOPMU KOHTPOJIIO.

Omuinka 3a okpemi (abo yci) MOAYJl 3HMXKYETbCA y pa3l MPOIYCKIB 3aHATh
CTYyJCHTOM. 3a KOKHE MPONyIIeHE 3aHATTS 3HUKYeThcs 0,5 Oanmu, ajie MiHIMalbHa
OIliHKA MICJISl 3HKEHHS HEe MOXe OyTH Huxk4a 60% BiJ MaKCUMaJIbHO MOYKJIUBOI.
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MaxkcumanbHa cyma 000B’a3k0oBux 6ainis 3 3M-118 — 17 Gaunis.

2 3aBnanus (17 6amiB) € 000B’ I3KOBHUM.

5. Meroanka npoBEIEHHS Ta OIIHIOBAHHSA KOHTPOJBLHOTO 3axoay st 3M-I19.

MiHIMaIbHUH 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHUH U1 3acBoeHHS 3M — I19:

— YWTaTH, MEpeKIaJaTH Ta IepekasyBatu Tekctu “Strategy of national
ecological policy of Ukraine until 20207;

— BH3HA4YATH XAPAKTCPHUCTUKU BXHBAHHSA Ta IICPCKIIAAY I'PaMaTUYHUX ABUII]
3a Temoro Indirect Speech;

— HaBYMTHCS YTBOPIOBATHU Ta BikuBatu Indirect Speech.

— UYHTATH, IICPCKIIAAATH Ta aHOTOBAHO IICPCKA3YBATHU TCKCTU 3a (1)aXOBOI-O
TCMATHKOIO.

MaxkcumanbHa cyma 0ajiB 3a 000B’SI3K0Bi 3ax0aM KOHTpoJ0 3 3M-I19 — 17
oaJiB:

1 3aBmanag — 13 OGamiB:

JuB. Tabm. 2.2

a) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta iX MepeKiIal
1 — ycHu# mepexaa TeKCTy
1 — mepekas TekcTy

b) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMMX CJIIB Ta 1X MepeKiIaa
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cicok He3HAHOMUX CIIIB Ta iX MepeKIa
1 — nmuceMoOBe BUKOHaHE Summary
1 — ycae Summary
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d) 1(0,5+0,5)
0,5 — nmuchbMoOBHIA KOHCTIEKT TIPaBHII 32 TeMoro Indirect Speech
0,5 — mucrMOBO BUKOHAHI TpaMaTU4HI BripaBu 3a TeMoro Indirect Speech

1 3aBnanus (13 OaiiB) He € 000B’I3KOBUM.

2 3aBnaHHsd — 17 Ganis:

Buxonanug MKP Ne 9

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBmaHHs
0,57 ©OamiB. MoaynbHa KOHTpPOJIbBHA POOOTAa BBAXKAETHCS 3apaxOBAHOIO, SKIIIO
HaJaHO MiHIMYM 18 mpaBUIBHUX BiAMOBIIEH.

Axmo 3axoan 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCIsl CTPOKIB, BU3HAYEHUX Y IIPOrpaMi HaBUYAIbHOI IUCHUIUTIHHU, KIJIBKICTh OaiB,
0 MOXK€ OTpUMAaTH CTYAEHT, HE MOxke mepeBulryBaTtd 60% BiJg MakCHMaJIbHO
MO>KJIMBOI JUTSI 11i€1 POPMHU KOHTPOJIIO.

Ominka 3a okpemi (200 yci) MOAYJl 3HMXKYETHCSA Y pa3i MPOMYCKIB 3aHITh
CTYIAEHTOM. 3a KOXKHE MPOMYIIEHE 3aHATTA 3HUXKYeThes 0,5 Oanu, ajne MiHIMalbHA
OLIIHKA MICIIsl 3HWKEHHS He MOXke OyTu Hmk4ua 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MaxkcumanbHa cyma 000B’s3k0BuX 6aiis 3 3M-119 — 17 Gamnis.

2 3aBaaHHs (17 0amiB) € 000B’ I3KOBUM.

6. MeToanka npoBEIEHHS Ta OIIHIOBAHHSI KOHTPOJIBLHOTO 3axoxy i 3M-I1110.

MiHimMaJbHUH 00CsAT 0a30BUX 3HAHb, III0 HEOOX1AHUH 11 3acBoeHHs 3M — I110:

— YyTaTH, TepeKiamaTH Ta TepekasyBath Tekctu “State  ecological
monitoring”;

— BUW3HAYATH XapaKTCPUCTHKU B)KUBAHHS Ta MEPEKIIaTy IPaMaTUYHHUX SBHUIII
3a Temoro Subjunctive Mood. Revision;

— HaBYHUTHCS YTBOPIOBATH Ta BikuBaTH Subjunctive Mood. Revision;

— YHTAaTH, IEPEKIIaJaTH Ta aHOTOBAHO TepEKa3yBaTH TEKCTH 3a (DaxOBOIO
TEMATHKO¥O.
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MakcumanbHa cyMa 0aJiB 3a 000B’A3K0BI 3axoau koHTpoJaio 3 3M-I110 — 17
0aJiB:

1 3aBnannusg — 13 Oams:

JluB. Tabm. 2.2

a) 4(1+1+1+1)
1 — ynTanus TCKCTY AHIJIIMCHKOK MOBOIO
1 — criMcoK HE3HANOMHUX CJIIB Ta iX nepekiajg
1 — ycHMIT mepekiia TEKCTY
1 — nepekas TeKcTy

b) 4(1+1+1+1)
1 — yuTaHHA TEKCTY aHTJIIHCHKOI MOBOIO
1 — ciucok He3HAMOMHUX CJIiB Ta iX MepeKian
1 — nmuceMoOBe BUKOHAHE Summary
1 — ycue Summary

c) 4(1+1+1+1)
1 — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnircok He3HAHOMUX CIIIB Ta iX MepeKia
1 — nucpbMOBE BUKOHAHE SUMMmary
1 — ycue Summary

d) 1(0,5+0,5)
0,5 — muchbMOBHIA KOHCIIEKT TIPAaBHJI 3a TeMoto Subjunctive Mood. Revision
0,5 — nmrchbMOBO BHKOHAaHHI T'paMaTH4YHI BIpaBW 3a Temoro Subjunctive Mood.
Revision

1 3aBnanus (13 OaiiB) He € 000B’I3KOBUM.

2 3aBnaHHsd — 17 Ganis:

Buxonanasa MKP Ne 10

MonynsHa KOHTpOJIbHA poboTa ckianaeThes 3 30 3aBaanb. KoxkHe 3aBIaHHS
0,57 6GaniB. MoaynpHa KOHTPOJbHA pO0OOTa BBAXKAETHCA 3apPaxOBAHOIO, SKIIO
HaJlaHO MiHIMYM 18 npaBuibHUX BIAMIOBIACH.
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Sxmo 3axoau OOOB’SI3KOBUX (DOPM KOHTPOJIFO BUKOHYIOTBHCSI CTYJIEHTOM
HICJIsl CTPOKIB, BUBHAYEHUX Y MpOrpami HaBYAIbHOI AUCUUIUIIHM, KIJIBKICTh OaiB,
0 MOXX€ OTPUMAaTH CTYACHT, HE MOXe mepeBuiryBaTH 60% Bix MakCUMalIbHO
MO>KJIMBOI JIs €T (pOpMU KOHTPOJTIO.

Ominka 3a okpemi (a0 yci) MOAYNI 3HHUKYETHCS Yy pasi MPOMYCKIB 3aHSThH
CTYJICHTOM. 3a KOXKHE MPOMYIIEeHE 3aHATTS 3HIKYeThCs 0,5 Oanu, ane MiHIMaabHA
OLIIHKA MiCIIsl 3HWKEHHS He MOXke OyTu Huk4da 60% BiJl MaKCHMaIbHO MOKIIUBOI.

MakcumanbHa cyma 000B’s13k0BUX 0aniB 3 3M-I110 — 17 Gamnis.

2 3apiaHHs (17 6aniB) € 000B’ I3KOBUM.

4. MeToIMKA MPOBEJIEHHS TAa OLIHIOBAHHS CEMECTPOBOI0 KOHTPOJIbLHOI'0
3aX0/1y.

KoHTpob MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMMMYYBAJIbHOT CUCTEMU
opraHi3ailii HaB4aHHS.

®dakTtryHa cyma OaiiB, SKy OTPHUMY€ CTYAEHT 3a IEBHHUI 3MICTOBHHIA
MOJAYJb, MAa€ CKJIAJaTUCA 13 pEe3yJbTaTIB BHUKOHAHHS 3aXOJIB 3 KOHTPOJIO, IO
3allJJaHOBAaHI 3a IIMM 3MICTOBHMM MOJyJIeM, Ta YpaxOBYyBaTH CBOE€YACHICTh
(HampuKiIaa: CTYAEHT, SIKUW MPOMYCTHUB KOHTPOJIBHUN 3axify 0e3 MOBaKHUX
OpUYuH a00 OTpPUMAaB HE33JOBUIbHY OLIIHKY, Ma€ MpaBO Yy THKHEBUU TEpMiH
BHUKOHATH 3aBJaHHS 1IbOTO 3aX0/y 3 MAKCUMAaJIbHOIO CYMOIO 0alliB, €KBIBaJICHTHOIO
OLIHIII He OuUIbIINA HDK "3aJ0BUIBHO")  BUKOHAaHHA CTYACHTOM Trpadiky
HaBYaAJILHOTO MPOIIECy.

CyMmu 0OaniB, sIKI OTpUMaB CTYJEHT 3a BCIMa 3MICTOBHUMHU MOAYJISIMU HaB-
YanbHOI JUCUUIUIIHM, (OPMYIOTh KUIbKICHY OLIHKY (0ay yCHIIIHOCTI) 3a
MiCYMKaMH TIOTOYHUX KOHTPOJIOIOUMX 3aXOAIB CTyJeHTa 3 HaBYAJIbHOI
JTUCHHIUTIHK. Pe3ynpTaT MOTOYHOTO KOHTPOJIO 3aHOCATHCA N0 IHTErpajbHOI
BiIoMOCTI. PillleHHS Mpo JOMycK CTyJeHTa [0 MiJACYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIbHOI TUCIUIUIIH peryiaMeHTyeThesl [lomokeHHs M
PO TPOBEACHHSI MMiICYMKOBOTO KOHTPOJIIO 3HAHb CTYCHTIB.

CTyneHT BBaXae€TbCs JOIMYIIEHUM [0 MIJCYMKOBOIO CEMECTPOBOIO
KOHTpPOJItO0 (ICTIMTY), SIKIO BIH BHKOHAB BCI BUAM POOIT, mepeadadyeHi podoyoro
HABYAJIBHOIO MPOrPAMOI0 JUCUUIUIIHKA 1 HAOpaB 3a MOJYJIHHOI CHUCTEMOIO CYyMY
6ainiB He mentie 50 (50%) Bix MakcUMalbHO MOXKJIIMBOI (000B’s3k0Ba yactrHa 100
0aiB) 3a NPaKTUYHY YaCTHHY.

[1iIcyMKOBUM KOHTPOJIEM 3HAHb CTY/ICHTIB € iCIHT.

Ex3amenarriiina poOoTa ckiaagaeTbes 3 4 3apAaHb. | 3aBJIaHHS OIIHIOETHCS B
50 6amiB, 2 3aBnannsa B 20 6aniB, 3 3aBmanHs B 10 6aniB 1 4 3aBmannasa B 20 Oanis.
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Ex3amenarriiina po6ota BBaXKAEThCS 3apax0BaHOI0, SKIIO CTYJEHT HaOpaB MIHIMYM
60 Ganis.

5 5 5 ®opma Ne H-5.05
OJECBKHNU NEPXXABHWM EKOJIOI'TYHWM YHIBEPCUTET

(HOBHC HaﬁMeHyBaHHﬂ BHIIOI'O HABYAJIbBHOT'O SaKHaHy)

PiBens BuIoi ocBiTH: Marictp
CrenianpHicts: 207 «Boani diopecypen», 051 «Exonomika» Cewmectp 11
HapuanpHa aucnurniina: [no3eMHa MoBa 3a mpoeCciiHUM CIPSMYBaHHIM

EK3AMEHAIIMHUM BIJIET Ne 1

1. Grammar Test 50 6.

2. Translate the text and put 5 questiontoit. ... 20 6.

3. a)Translate the text and entitleit ... 10 6.
b) Give a brief summary of the text (not more than 3 sentences)

4. Write about “My scientific interests” . 20 ©.

3aTBepKEHO Ha 3acijaHHi Kadeapu iIHO3EMHUX MOB
[Tporokonm Ne  Bim “__ ” 202 poky

3aBinyBau kadeapu, rojioBa HMKJI0BOI KoMicii II’sanoBa LIO.
(miammc) (mpi3BuLIe Ta iHiia N)
Ex3amenarop
(mimuc) (mpi3BuIe Ta iHimiamm)

3aranpHa KUIbKICHA OIIIHKA € YCEepPeIHEHOI MK KUIbKICHOIO OI[IHKOIO
MOTOYHUX KOHTPOJIOOUKX 3ax0AiB (rpada 3 BiAOMOCTI) Ta KUIBKICHOIO OIIIHKOIO
CEMECTPOBOI0 KOHTPOJIOIYOro 3axony (rpada 4 BiIOMOCTI) 1 BUCTaBISETHCS Y
rpadi 5 3aKkoBoO-eK3aMeHalliiH1 BIJOMOCTI (3arajibHUil 0aj yCIIIHOCTI).

SIKIo cTyAeHT 3a MmiICyMKaMH ICIIUTY OTPUMAB 3arajibHy KiJIbKICHY OILIIHKY
MeHme 50% (Bim MakCHUMaJbHO MOXJIMBOI Ha €K3aMEHi), TO BHKJIagadyeM
BUCTABIIAE€TbCS Yy rpadl S 3aranbHUM Oan yCHIMIHOCTI, SKUH JOPIBHIOE OaJry
ycnimHocTi Ha icnuTi (rpada 4).

IlIkana ouinoBanHs 3a cucremoro EKTAC Ta cucreMor0 yHiBepcuTery

3a HaI[lOHAJIBHOIO CUCTEMOIO 3a CHCTEMOIO
3a mKasnor .
ECTS . ' YHIBEpCHUTETY
JUIS iCTIATY JUTS 3aTKY (B mporeHTax)
A 5 (BiZMiHHO) 3apaxoBaHO 90 - 100
B 4 (mobpe) 3apaxoBaHO 82 -89
C 4 (mobpe) 3apaxoBaHO 74-81
D 3 (3aJ10BIJIBHO) 3apaxoBaHO 64-73
E 3 (3a10BLJIBHO) 3apaxoBaHO 60 - 63
FX 2 (He3a10BUIBHO) HE 3apax0OBaHO 35-59
F 2 (He3aJ10BUIbHO) HE 3apaxOoBaHO 1-34
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3. PEKOMEHJAIII 1O CAMOCTIMHOI POBOTH CTYJIEHTIB

3.1.  Mooyas 3M-II5 “The Ecosystem”, “Famine and flood ”, The Infinitive;
nepekiao mekcmy 3a paxom ma nepexiad cyCcnilbHO-NONMUYHO20 MEeKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlitepatypa: [1, c. 45 -55], [2, c. 38-42], [5, c. 73-84]
3.1.1. IToBuaHHs

e) Text A. “The Ecosystem”. “Famine and flood”.

. [IpounTaTy TEKCT aHIMMIICHKOIO MOBOIO.

. Buniucatu 3 TeKCTy HOBI CjioBa Ta 3poOUTH X MEepeKIal.

. YCHO MepeKIacTh TEKCT 3 aHTJIACHhKOI Ha YKPAiHCbKY MOBY.
. [lepexa3atu TEKCT.

AW N~

f) omarine untanns. [lepekian TeKCcTy 3a dhaxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X MEPEKIIa/l.

. YCHO mepeK1acT TeKCT 3 aHTJIACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN A W=

g) JomarniHe untaHHs (epeKIa CyCHiIbHO-TIOITAYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHIIIOMOBHOI razet (2500 ap.3HaKiB)
. Bunucaru 3 TeKCTy HOBI cJl0OBa Ta 3pOOUTH 1X MEpPEKIIaI.

. YCHO MepeKIacTi TEKCT 3 aHTJIUCHKOI Ha YKPAiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN BN WN =

h) Grammar:
The Infinitive

1. 3poOuTH KOHCTIEKT MTPaBUJI BXKUBAHHS 1H(IHITUBY Ta Oro OpM y aKTUBHOMY
Ta TaCUBHOMY CTaHax.
2. BukoHaTu TpeHyBaJlbHI FPaMaTH4YHI BIPABH.
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3.1.2. TlutaHHs 17151 caMOIIepeBIpKU

What is an ecosystem?

What are autotrophic beings?

What are heterotrophic beings?

What are the processes that autotrophic beings use to produce organic material
from inorganic substances?

What is the primary energy source for life on earth?

What is the main means by which autotrophic beings obtain energy?

Which is the autotrophic group responsible for the production of most part of
the molecular oxygen of earth?

In the ecological study of food interactions, what are the autotrophic beings
called?

How are the heterotrophic beings divided in the ecological study of foo
interactions?

10.What are primary consumers?
11.Can a food chain present quaternary consume: without having secondary or

tertiary consumers?

12.Can a tertiary consumer of one chain be a primary or secondary consumer of

another chain?

3.2.  Mooyrv 3M-IT6 “Global Warming”, “Kyoto Revisited ”, The Gerund;
nepexnao mekcmy 3a paxom ma nepexiao CycnilbHO-NOAIMUUHOS0 MEKCMY 3
AH2NTUCLKOI HA YKPAIHCLKY MOB).

Jlireparypa: [1, c. 55 - 64], [2, c. 47-50], [6, c. 94-100]

B W N —

DN AN WN -

3.2.1. [loByanHus

a) Text A. “Global Warming”. “Kyoto Revisited”.

. [IpounTaTy TEKCT aHIMMINCHKOIO MOBOIO.

. Buniucatu 3 TeKCTy HOBI CjioBa Ta 3poOUTH X MEepeKIal.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.
. [lepexazatu TEKCT.

b) Hdomariine yntanns. [lepekian TekcTy 3a haxom.

. CaMocCTiiiHO BUOpATH TEKCT 3 aHTJIIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BuniucaTu 3 TekcTy HOBI CliOBa Ta 3p0OUTH iX MEpEeKIal.

. YCHO mepeKIacTi TeKCT 3 aHTJIIHCHKOI Ha YKPAiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary
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c) Jomaine untanHs (Mepekiiaa CyCHiIbHO-TIOJITHYHOTO TEKCTY)

1. CamocTiitHO 00paTh TEKCT 3 aHTIAOMOBHOI razetu (2500 mp.3HaKIB)
2. Bunucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X MEpeKIal.

3. YCcHO nepeK1acTu TEKCT 3 aHITHChKOI Ha yKPaiHChKY MOBY.

4. [TucpmoBe Summary.

5. Ycue Summary

d) Grammar:
The Gerund

1. 3poOnTH KOHCHIEKT NPaBUJI B)KUBAHHA FEPYH/III0 Ta HOTO JOPM Y aKTUBHOMY Ta
NaCUBHOMY CTaHaXx.
2. BukoHaTu TpeHyBaJIbHI IpaMaTUYHI BIPABU.

3.2.2. IlutanHd U1 caMOTepeBIpKU

12.What is one of the biggest threats facing the planet?

13.What 1s the cause of temperature’s rising?

14.What have the researchers gathered over the past 20 years?

15.What is the global warming?

16.Do you know the real size of mankind’s contribution to the warming trend?

17.How should greenhouse-gas emissions be abated?

18.What is in a new paper for the Copenhagen Consensus project examined?

19.Are rising temperatures capable of causing great economic harm-though a lot?

20.How much would total economic damage fall on farmers?

21.Why could farmers no longer use some lands?

22.What does Mr. Cline investigate?

23.What is the Kyoto treaty?

24.What would a global carbon tax encourage?

25.Why do many rich countries refuse to sign the Kyoto treaty?

26. Does the last policy recognize that predictions of climate change encompass a
wide range of scenarios? Why?

27. What can you say about the possible damage costs?

28.Do you know three possible remedies?

29.Are given figures huge and very speculative?

3.3. Mooyaw 3M-IT7 “Natural Wonders of the World ”, The Participle; nepexnao
mexcmy 3a ¢haxom ma nepexkaao CyCnilbHO-noJIMu4H020 MEeKCmy 3 AH2IIUCLKOL Ha
VKPAiHCbKY MOBY.
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Jlitepatypa: [1, c. 65-79], [2, c. 42-47], [6, c. 84-94]

3.3.1. IloByanHs
a) Text A. “Natural Wonders of the World .

. [IpounTaT TEKCT aHITINCHKOIO MOBOIO.

. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH X TIEpEKIal.

. YCHO nepeK1acT TeKCT 3 aHTINACHKOI Ha YKPaiHChKY MOBY.
. [lepekazatu TEKCT.

AW —

b) Jdomarne untanns. [lepekaag TeKCTy 3a haxoM.

. CaMocTiifHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3pOOUTH iX MEpEeKIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIMChKOI Ha YKPAiHCbKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

DN AN W=

C) JomarHe yntaHHs (epekiiaa CyCiIbHO-TOITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BuniucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepeKyIacTi TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. YcHe Summary

DN AN WN -

d) Grammar:
The Participle

1. 3poOUTH KOHCIIEKT TPpaBUJ BXKUBAHHS JIENPUKMETHUKA Ta HOro popm y
aKTUBHOMY Ta MIACUBHOMY CTaHaX.
2. BukonaTtu TpeHyBaJlbHI IPaMaTH4HI BIPABH.

3.3.2. [lutanns 175 caMmonepeBipKu

13.What does the Victoria Falls offer?

14.Who reported the existence of the Falls?

15.When did David Livingstone reported the existence of the Falls to the outside
world?
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16.What is the Hunters Road?

17.What does the list of commercial activities include?

18.What can you say about the Grand Canyon?

19.What can you say about the John Wesley?

20.What did John Wesley write about the Grand Canyon?

21.What can you say about the Colorado river?

22.What is Gorge?

23.What is Vishnu schist?

24.How many years ago did Grand Canyon form?

25.What other magnificent wonders of the world do you know?

26. When did the region become more politically stable?

27.Why are new activities emerging and why is the industry becoming more and
more sophisticated?

3.4. Mooyaw 3M-II8 “Decision-Making on the Solution of Ecological
Problems”, The Conditional sentences (Type O, I, Il, I11); nepexrao mexcmy 3a
gaxom ma nepexnao cycniibHO-NOJIMUYHO20 MEKCMY 3 AHSAIUCHKOI HA YKPAIHCHKY
MO8).

Jlireparypa: [1, c. 80-91], [2, c. 59-60], [6, c. 121-138]
3.4.1. IloBuanHs
a) Text A. “Decision-Making on the Solution of Ecological Problems .
. [IpounTaTy TEKCT aHIMMINCHKOIO MOBOIO.
. Buniucatu 3 TeKCTy HOBI cJIOBa Ta 3poOUTH X MEepeKIail.

. YCHO MepeKIacTi TEKCT 3 aHTJIHCHhKOI Ha YKPaiHCbKY MOBY.
. [lepexa3atu TEKCT.

AW N —

b) Jdomarne untanns. [lepexaag TEKCTY 3a haxom.

. CaMocTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HakiB
. BunucaTu 3 TekcTy HOBI ClI0OBa Ta 3p0OUTH X MEPEKIIa/I.

. YCHO mepeK1acT TeKCT 3 aHTIIHACHKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

R WN =

c) HomariHe untaHHs (epeKiIaa CyCHiIbHO-TIOITAYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHrJIOMOBHOI razetu (2500 1p.3HaKiB)
. Bunucatu 3 TeKCTy HOBI ClIOBa Ta 3pOOUTH 1X MEpEKIIal.

N —
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3. YCHO nepekiacTi TEKCT 3 aHTUIICBKOI Ha YKPaiHChKY MOBY.
4. ITucpmoBe Summary.
5. Ycue Summary

d) Grammar:
The Conditional sentences (Type 0, I, 11, 111)

1. 3poOUTH KOHCIIEKT MTPaBUJI BXKMBAHHS YMOBHHUX PEUYEHb Ta IX CTPYKTYpHU
noOyJI0OBU B PEUCHHSIX.
2. BukonaTtu TpeHyBaJlbHI IPaMaTH4HI BIPABH.

3.4.2. IlutanHs U1l caMOTIEPEBIPKU

15.1s it possible to speak about the target behavior of a system in a certain
environment?

16.Why must we obtain necessary information?

17.What do you know about anthropo-ecological system?

18.What is the difference between the target behavior and adaptation of behavior?

19.What can we say from the viewpoint of social economic development?

20.Why must the barriers of natural conditions be learned?

21.What do you know about the process of cognition of natural and social laws?

22.\What are trajectory variants?

23.What is one of the serious problems of the decision-making process in the
solution of ecological problems?

24.What have many scientists already agreed?

25.In what solution does all branches of natural and social sciences intervene?

26.1s this certainly a generally acceptable view?

27.With what does its implementation meet?

28.What is the main problem of the specialized terminology?

29.Why do conflicts occur among specialists?

30.What is another problem of such inter-disciplinary cooperation?

31.Why is this discussion totally pointless?

32.What have we to realize?

3.5. Mooyns 3M-II9 “Strategy of National Ecological Policy of Ukraine Until
20207, Indirect speech; nepexnao mexcmy 3a gpaxom ma nepekiao cycniivbHo-
NOJIMUYHO20 MEKCMY 3 AHATUCLKOI HA YKPAIHCLKY MOB).

Jliteparypa: [1, c. 91-101], [2, c. 61-62], [4, c. 360-383]
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3.4.1. IToBuanus
a) Text A. “Strategy of National Ecological Policy of Ukraine Until 2020 .

. [IpounTaTu TEKCT aHTIAIICHKOIO0 MOBOIO.

. BunucaTu 3 TexcTy HOBI CJIOBa Ta 3pOOUTH X TIEPEKIIa.

. YCHO nepeK1acT TeKCT 3 aHTJIHCHKOI Ha YKPAiHCbKY MOBY.
. [lepekasaTu TekcT.

AW N —

b) Hdowmaiine untanns. [lepekian TekeTy 3a haxom.

. CaMOCTIitHO BUOpATH TEKCT 3 aHTJIOMOBHOI'O TeKCTY 3a (paxom (8000 ap.3HaKiB
. BunucaTu 3 TexcTy HOBI ClIOBa Ta 3p0OUTH X TIEPEKIIa.

. YCHO NepeKIacTi TEKCT 3 aHTJIIHCHKOI HA YKPaiHChbKY MOBY.

. [TucemoBe Summary.

. Ycae Summary

D BN W=

c) [omarniHe untaHHs (epeKIa CyCHiIbHO-TIOITHYHOTO TEKCTY)

. CamocTiitHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 mp.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIal.

. YCHO mepekyiacTi TeKCT 3 aHTJIHCHhKOI Ha YKPaiHChKY MOBY.

. [TucemoBe Summary.

. Ycue Summary

DN A W=

d) Grammar:
Indirect speech

1. 3poOUTH KOHCIIEKT MPpaBUJ BXKMBAHHS YMOBHHUX PEUYEHb Ta IX CTPYKTYpHU
noOyJJOBU B PEUEHHSX.
2. BukoHaTu TpeHyBaJibHI FPAMaTH4YHI BIPABH.

3.4.2. [lutanHs 1751 caMOTIEPEBIPKU

What are the main problems of pollutant emissions?

What can we observe in our environmental?

What have the competent authorities been continuously registering up?
What position does Ukraine take according to UNESCO?

Why does the system of state governance in the area of protection of waters
require?

What can you say about drinkable water supply of Ukraine?

7. What are the main factors of sanitary and epidemiological well-being of

ok E

o
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population?

8. What does pollution of water with nitrates cause?

9. Why is status of land resources in Ukraine close to critical?

10. Is the largest territory of Ukraine occupied by agricultural lands (71 per cent),
78 per cent?

11. What can you say about forest resources in Ukraine?

12. Why doesn’t the system of management in the area of protection and
restoration of forests fully ensure?

13. What does biosphere of Ukraine count?

14. What can you say about a considerable decrease of landscape diversity in
Ukraine?

15.What is a strategic task in achieving the ecological balance of the territory of
Ukraine?

3.6. Mooyas 3M-IT10 “State ecological monitoring ”, Subjunctive mood.
Revision; nepexnao mexcmy 3a paxom ma nepexiao cycniibHo-noaimuyHo20
meKcmy 3 aH2UCLKOI Ha YKPAIHCLKY MOB).

Jliteparypa: [1, c. 101-115], [2, c. 52-55], [6, c. 106-120]
3.4.1. [loBuanHs
a) Text A. “State ecological monitoring .
. [IpounTaT TEKCT aHIMIICHKOIO MOBOIO.
. Buniucatu 3 TeKCTy HOBI CJIOBa Ta 3pOOUTH iX MEpEKIIa/l.

. YCHO MepeKIacTi TEKCT 3 aHTJIUCHKOI Ha YKPAiHChKY MOBY.
. [lepeka3atu TeKCT.

AW N —

b) Jdomaiine untanns. [epekiag TEKCTY 3a (haxoM.

. CamMocTiiiHO BUOpATH TEKCT 3 aHTJIOMOBHOTO TeKcTy 3a (haxom (8000 ap.3HaKiB)
. BunucaTu 3 TekcTy HOBI ClIOBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO mepeKyIacTi TeKCT 3 aHTJIACHKOI Ha YKPaiHCbKY MOBY.
. [TucemoBe Summary.

. Ycue Summary

DB WN =

c) [omariHe untaHHs (epeKia CyCHiIbHO-TIOITHYHOTO TEKCTY)

. CamocTiifHO 00paTu TEKCT 3 aHTJIOMOBHOI razetu (2500 np.3HaKiB)
. Bunncatu 3 TeKCTy HOBI clIOBa Ta 3pOOUTH 1X MEPEKIIal.
3. YCcHO nepeknacT TeKCT 3 aHTJIHCHKOI Ha YKPaiHChbKY MOBY.

N —
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4, TTucemoBe Summary.
5. Ycue Summary

d) Grammar:
Subjunctive mood. Revision.

1. 3poOUTH KOHCIIEKT MTPpaBUJl BXKMBAHHS YMOBHUX PEUYEHB Ta IX CTPYKTYpHU
noOyJI0OBU B PEUCHHSIX.
2. BukoHaTtu TpeHyBaJibHI FPaMaTH4HI BIPABH.

3.4.2. IlutaHHs 1J19 CaMOTIEPEBIPKU

1. What can you say about the subjects of the state environment monitoring
system?

2. What does the State Hydrometeorological Service (the Ministry of
Emergencies) monitor?

3. Why are the chemical composition of atmospheric precipitations and their
acidity under observation?

4. How many pollutants does the program of compulsory monitoring of air quality
include?

5. What does State Environmental Inspectorate (the Ministry of Environment)
provide?

6. How is water quality monitored?

7. What do water management organizations monitor?

8. What does Sanitary and Epidemiological Service (the Ministry of Health) carry
out?

9. What can you say about the responsibilities of monitoring systems?

10. What are the indicators of radioactive contamination?

11. What do the enterprises of the State Forestry Committee monitor and assess?

12. What do the monitoring laboratories of the Ministry of Agricultural Policy
carry out?

13. What does the Ministry of Emergencies monitor within the 30-km zone around
the Chernobyl Nuclear Power Plant?

14.What does International Radioecology Laboratory of Chornobyl Centre for
Nuclear Safety monitor?

15. What must local authorities do to prevent further contamination?
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4. IMTAHHA 10 3AXO0A1IB IOTOYHOTI'O, IIACYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTu4Hi 3aBIaHHS 10 MOIYJIBHOI KOHTPOJIbHOI po6oTH Moy s 3M-I15.
Module control work Ne 5

[2, c. 38 —42], [3, c. 85— 100]
I. Grammar Test (The Infinitive)
Put the right form of the Infinitive:

1. There is nothing (to done). [2, c. 38 — 42], [3, c. 85— 100]

2. You'll have to attend preparatory courses to be able (to enter) the university. [2,
c. 38 —42], [3, c. 85 —-100]

3. He is said (to leave) school. [2, c. 38 — 42], [3, c. 85 — 100]

4. What is your opinion about the steps (to take) in order to help the pupils in their
studies? [2, c. 38 —42], [3, c. 85— 100]

5. They must (to argue) about the right occupation to choose. [2, ¢c. 38 — 42], [3, c.
85 —100]

6. (To teach) is a responsible task. [2, c. 38 — 42], [3, c. 85— 100]

7. My sister is glad (to teach) English. [2, c. 38 — 42], [3, c. 85— 100]

8. I'm sorry (not to help) you. [2, c. 38 —42], [3, c. 85 —100]

9. It seems (to rain) since the very morning. [2, c. 38 —42], [3, c. 85— 100]

10.They are glad (to be taught) by such outstanding teachers. [2, c. 38 — 42], [3, c.
85 —100]

11. I'm sure very soon | shall be sorry (not to speak) with you about it. [2, c. 38 —
42], [3, c. 85— 100]

12.When she felt worse, she was sorry (not to consult) the doctor. [2, c. 38 — 42],
[3, c. 85— 100]

13.1 know that when | return to town in autumn, my friend is sure (to work) at her
thesis. [2, c. 38 —42], [3, c. 85 — 100]

14.0ur teacher is glad (to teach) such clever students. [2, c. 38 — 42], [3, c. 85 —
100]

15.She is said (to write) a new book. [2, c. 38 — 42], [3, c. 85— 100]

16.Why didn't you (to come) yesterday? [2, c. 38 — 42], [3, c. 85— 100]

17.1 am sorry (to wait for) you for the whole evening. [2, ¢. 38 — 42], [3, c. 85 —
100]

18.1 intended (to show) you my collection of snapshots. [2, c. 38 — 42], [3, c. 85 —
100]

19.They are said (to be) rather good. [2, c. 38 —42], [3, c. 85— 100]
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20. Tomorrow I shall be busy: | expect (to read) for the examination all day long.
[2, c. 38 —42], [3, c. 85 —-100]

21.The examination is said (to be) very difficult. [2, c. 38 — 42], [3, c. 85 — 100]

22.0ur students are very glad (to give) consultations. [2, c. 38 — 42], [3, c. 85 —
100]

23.I'm so glad (to give) the necessary explanations at the last consultation. [2, c. 38
—42], [3, c. 85— 100]

24.He ( to know) to speak English well. (SIC) [2, ¢.40-42], [ 3, ¢.94-97].

25.She is said (to work) much. [2, ¢c. 38 — 42], [3, c. 85 — 100]

26.My father is considered (to make) an extraordinary discovery. [2, c. 38 — 42],
[3, c. 85— 100]

27.This man is believed (to achieve) much in the field of science. [2, c. 38 — 42],
[3, c. 85 —100]

28.She is sure (to come). [2, ¢. 38 — 42], [3, c. 85— 100]

29.He didn't seem (to hear) the news. [2, c. 38 — 42], [3, c. 85 — 100]

30.My friend happened (to be) at home. [2, c. 38 — 42], [3, c. 85— 100]

31.She didn't prove (to be) a well-read person. [2, c. 38 —42], [3, c. 85 — 100]

32.The mother is certain (to return) soon. [2, c. 38 — 42], [3, c. 85 — 100]

33.She is not likely (to do) it. [2, ¢.40-42], [ 3, ¢.94-97].

34.Sandra managed (to find) a solution. [2, c. 38 — 42], [3, c. 85 — 100]

35.His language skills seem (to improve). [2, c. 38 — 42], [3, c. 85— 100]

36.Andrew hates (to get up) early in the morning. [2, c. 38 — 42], [3, c. 85— 100]

37.Dave agreed (to meet) his friends at the café tomorrow evening. [2, c. 38 — 42],
[3, c. 85 —100]

38.1 can’t stand (to live) in the countryside. [2, c. 38 — 42], [3, c. 85 — 100]

39.What are you going to do after (to finish) school? [2, c. 38 — 42], [3, c. 85 —
100]

40.Mike warned his sister not (to come) back late. [2, c. 38 — 42], [3, c. 85— 100]

41.We usually learn (to read) at school. [2, c. 38 — 42], [3, c. 85— 100]

42.Ann didn’t know what (to answer). [2, c. 38 —42], [3, c. 85— 100]

43.George practices (to swim) twice a week. [2, c. 38 —42], [3, c. 85 — 100]

44.My dad gave up (to smoke) a long time ago. [2, c. 38 — 42], [3, c. 85 — 100]

45.1 would like (to visit) Brazil this summer. [2, c. 38 —42], [3, c. 85 — 100]

46.Ken failed (to make) new friends at school. [2, c. 38 — 42], [3, c. 85— 100]

47.Have you ever thought of (to grow) your own fruit and vegetables? [2, c. 38 —
42], [3, c. 85— 100]

48.We arranged (to return) back home on 10 of June. [2, c. 38 — 42], [3, c. 85 —
100]

49.1 happened (to wait) for the bus when the accident happened. [2, c. 38 —42], [3,
c. 85-100]

50.You must (to joke). [2, c. 38 —42], [3, c. 85— 100]

51.We (to wait) for ages. [2, c. 38 — 42], [3, c. 85— 100]
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52.1f you had run a bit faster, you would (to win). [2, c. 38 — 42], [3, c. 85 — 100]

53.1 am glad (to hear) it. [2, c. 38 — 42], [3, c. 85— 100]

54.He seems (to write) much. [2, c. 38 — 42], [3, c. 85— 100]

55.He is reported (to write) a new novel. [2, c. 38 — 42], [3, c. 85— 100]

56.She ought (to tell) the truth. [2, c. 38 — 42], [3, c. 85 — 100]

57.This house seems (to rebuild) already. [2, c. 38 —42], [3, c. 85— 100]

58.1 don’t (to understand) this text. [2, c. 38 —42], [3, c. 85— 100]

59.1 happened (to ask) her about you when you came in. [2, ¢. 38 — 42], [3, c. 85 —
100]

60.He seems (to ask) wrong people. [2, c. 38 — 42], [3, c. 85— 100]

[1, c. 45-46]
1. Fill the gaps:
The Ecosystem

The ecosystem is defined as a unit of biosphere which has the structural and
functional aspects. It consists of the community and physical environment

including interactions between them. It was in the year 1935 by the
Tansley.
The can be temporary which includes the rain water pond. It

can be permanent also. They may be natural which includes the rivers. They are
also manmade which includes the aquarium. It can be small which includes the
pond or a drop of water. It can be large which includes the ocean. There is a small
ecosystem own as the micro ecosystem. The distinct community consisting of
number of species forms an ecosystem.

The ecosystem consists of two components which are known as the biotic
and abiotic. The biotic component includes the autotrophs, heterotrophs and the
reducers. They form the living members of an ecosystem. These are
related by the food mainly. The food transfers the matter and energy to the outside
world. The autotrophs are also known as the producers. They make the food by the
process of photosynthesis from the . They not only make their food
but also r the other organisms. They absorb the energy from sun and convert into
the chemical energy. They release oxygen. The organic compounds release energy
during . They are also referred as the transducers as they can
one form of energy to the other form. The organic compounds which are formed
play an important role in of bodies and help in the release of energy.
They maintain the ratio of gases which help to maintain the balance of :
The heterotrophs are not able to make their own food. It includes the zooplankton,
larvae, bugs, higher animals and vertebrates. They are also as the
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consumers. They are of different types. Basically, they are of herbivores and
carnivores type.

A) ecosystem, B) introduced, C) components, D) respiration, E) the building,
F) known, G) different, H) inorganic materials, 1) nature, J) convert.

4.2. I'pamaTu4H1 3aBIaHHS JI0 MOJTYJIbHOI KOHTPOJIbHOT poboT Moyt 3M-116.

Module control work Ne 6
[2, c. 47 —50], [3, c. 113 — 123]
I. Grammar Test (The Gerund)
Put the right form of the Gerund:

1. 1 don't like (to sit) in a room in such weather. [2, c. 47 —50], [3, c. 113 — 123]

2. When will the (sit) of the literary circle be held? [2, c. 47 — 50], [3, c. 113 —
123]

3. You can find the sender's address at the (begin) of the letter. [2, c. 47 — 50], [3,

c. 113 -123]

(To walk) is very useful. [2, c. 47 —50], [3, c. 113 — 123]

5. You may finish this discussion after my (to leave). [2, c. 47 — 50], [3, c. 113 —
123]

6. After (to finish) their homework the children went out to play. [2, ¢. 47 — 50],
[3,c. 113 -123]

7. The telephone is (to ring). [2, c. 47 — 50], [3, ¢. 113 — 123]

8. What do you mean by (to come) to the lesson without reading the story? [2, c.
47 -50], [3, c. 113 - 123]

9. On every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.

B

113 - 123]

10.They enjoyed (to sit) in the sun and (to bath) in the river. [2, c. 47 — 50], [3, c.
113 - 123]

11.There is no hope of our (to get) home before 7 o'clock. [2, c. 47 —50], [3, c. 113
—123]

12.He returned home after a year's absence, it was a happy (to meet). [2, c. 47 —
50], [3, ¢. 113 - 123]

13.1 like (to invite) friends to my house. [2, c. 47 —50], [3, c. 113 — 123]

14.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 —
123]

15.She was proud (to see) this famous writer. [2, c. 47 — 50], [3, c. 113 —123]

16.1've no objections (to be asked) about it. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

17.She's quite sure of (to ask) him about his travel. [2, c. 47 —50], [3, ¢. 113 — 123]
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18.1 do not like (to attract). [2, c. 47 — 50], [3, c. 113 — 123]

19.Soames had the peculiar to (feel) of having overdone his own honesty. [2, c. 47
—50], [3, c. 113 - 123]

20.At every school she went she learned (to draw), besides being taught by her
father at home. [2, c. 47 —50], [3, c. 113 — 123]

21.1t is historically true. | loathe (to have) to admit it. [2, c. 47 — 50], [3, c. 113 —
123]

22.1t's no good to (try) to keep him here. [2, c. 47 —50], [3, ¢. 113 — 123]

23.She kept on (to laugh) at father. [2, c. 47 —50], [3, c. 113 — 123]

24.She stopped (to cry), looked up, said nothing. [2, c. 47 — 50], [3, c. 113 — 123]

25.1 like (to invite) friends to my house. [2, ¢. 47 — 50], [3, ¢. 113 — 123]

26.The mother got angry (to see) such a great disorder. [2, c. 47 — 50], [3, c. 113 -
123]

27.1 have no objections to (to ask) about it. [2, c. 47 — 50], [3, c. 113 — 123]

28.(To travel) is a very pleasant thing. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]

29.1 don’t like the idea of (to walk) in the rain. [2, ¢. 47 —50], [3, ¢. 113 —123]

30.After (to leave) her umbrella in the hall, she entered the living-room. [2, c. 47 —
50], [3, ¢. 113 - 123]

31.What do you mean by (to come) to the lesson without (to read) the story? [2, c.
47 -50], [3, c. 113 - 123]

32.0n every floor of the hotel there are rooms for (to wash). [2, c. 47 — 50], [3, c.
113 - 123]

33.He felt better for (to write) the letter. [2, c. 47 — 50], [3, ¢. 113 — 123]

34.She enjoyed (to give) parties. [2, ¢c. 47 — 50], [3, c. 113 — 123]

35.1 remember laughing aloud, and the laugh (to carry) by the wind away from me.
[2, c. 47 —50], [3, c. 113 —123]

36.Nobody can go on (to live) without some belief. [2, c. 47 — 50], [3, c. 113 —
123]

37.1t is awfully hard work (to do) nothing. [2, c. 47 —50], [3, c. 113 — 123]

38.My friend is fond of (to swim). [2, c. 47 — 50], [3, c. 113 — 123]

39.At every school she went she learned (to draw) besides (to teach) by her father
at home. [2, c. 47 —50], [3, c. 113 — 123]

40.1 like (to make) people happy. [2, c. 47 —50], [3, c. 113 — 123]

41.No one could pass in or out without (to see). [2, ¢. 47 — 50], [3, ¢. 113 — 123]

42.She denies (to speak) with him. [2, c. 47 — 50], [3, c. 113 — 123]

43.1t is no use (to tell) like that to me. [2, c. 47 —50], [3, ¢. 113 — 123]

44.He turned at (to hear) her footsteps. [2, c. 47 — 50], [3, c. 113 - 123]

45.He has no right to come bothering you and your father without (to be invited).
[2, c. 47 —50], [3, c. 113 —123]

46.Tom went on (to whitewash). [2, c. 47 — 50], [3, c. 113 — 123]

47.He did not remember (to see) in that room. [2, c. 47 — 50], [3, c. 113 — 123]

48.The child deserves (to praise). [2, c. 47 — 50], [3, c. 113 — 123]

49.1t looks like (to rain). [2, c. 47 — 50], [3, c. 113 — 123]

50.1 hope you will forgive me (to disturb) you. [2, ¢c. 47 — 50], [3, ¢. 113 — 123]
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51.1 said something about my clock (to be) slow? [2, c. 47 — 50], [3, ¢. 113 — 123]

52.1 do not remember (to hear) the legend before. [2, c. 47 —50], [3, c. 113 —123]

53.Are you quite sure of those words (to refer) to my brother? [2, c. 47 — 50], [3, c.
113 - 123]

54.Do not forget (to shut) the windows when you leave home. [2, c. 47 —50], [3, c.
113 - 123]

55.1 am fond of (to give) presents. [2, c. 47 —50], [3, c. 113 —123]

56.1 am fond of (to be given) presents. [2, c. 47 — 50], [3, ¢. 113 — 123]

57.You are responsible for (to give) him that job. [2, c. 47 —50], [3, ¢. 113 — 123]

58.1 am sorry for (to be given) such a small scholarship. [2, ¢. 47 —50], [3, c. 113 -
123]

59.0ne can (to learn) a lot by reading. [2, c. 47 — 50], [3, ¢. 113 — 123]

60.She (to be surprised) at my coming. [2, c. 47 —50], [3, ¢. 113 — 123]

[1, c. 55-56]
1. Fill the gaps:

Global warming looms, in many people’s minds, as one of
threats facing the planet. Over the past 20 years researchers have gathered evidence
that the burning of fossil fuels is causing temperatures to rise. However, the exact
pace of global warming, as well as the size of mankind’s to the
warming trend, remain uncertain. Aside from these issues is the question of
precisely how greenhouse-gas emissions should be abated, assuming that they need
to be reduced at all. In a new paper for the Copenhagen Consensus project,
William Cline of the Centre for Global Development and the Institute for
International Economics these topics.

Rising temperatures are capable of causing great economic harm-though a
lot depends not just on how big future rises prove to be but also on how quickly
they happen. One estimate is that a doubling of atmospheric of carbon
dioxide would cost between 1% and 2.5% of global GDP, depending on what
kinds of damage you include.

One study from America’s Environmental Protection Agency the
possible costs. Around a quarter of the total economic damage would fall on
farmers, who could no longer use some lands. Around a sixth of the total cost
would come in the form of increased cooling costs for homes and offices (net of
the reduced costs of heating). Rising sea levels, damage to drinking-water

and heatwaves would each account for 10%. Deforestation and rising
ozone pollution together would another 10%. And the economic estimates
exclude the “amenity value” — the price people would be willing to pay to avoid
rising for reasons of convenience.

Yet totting up such is far from straightforward. That is because
applying cost-benefit analysis to climate change is harder than for most public-
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policy - many of the benefits will not be realized for decades or
centuries, while the costs of abatement will be felt today.

A) listed, B) examines, C) supplies, D) figures, E) the biggest, F) questions, G)
add, H) temperatures, 1) contribution, J) concentrations.

4.3. 'pamMaTuyH1 3aBAAHHS 10 MOAYIBHOI KOHTPOJIBHOI poO0TH Mo tyist 3SM-IT7.

Module control work Ne7

[2,c. 42 —47], [3, c. 100 — 113]

I. Grammar Test (The Participle)
Put the right form of the Participle:

1. Is this seat (to take)? [2, c. 42 — 47], [3, ¢. 100 — 113]

2. The man (to stand) at the door helped the old woman to get off the bus. [2,
.42 —47],[3, c. 100 — 113]

3. (To see) that he was late he took a taxi. [2, c. 42 — 47], [3, ¢. 100 — 113]

What is this instrument (to use) for? [2, c. 42 — 47], [3, ¢. 100 — 113]

5. Watches and cameras (to make) in Japan are very popular all over the world. [2,
c. 42 —47],[3, c. 100 — 113]

6. (To take) the child by the hand she hurried to the kindergarten. [2, c. 42 — 47],
[3, c. 100 — 113]

7. (To receive) a letter, I usually answer it at once. [2, c. 42 — 47], [3, c. 100 —
113]

8. While (to prepare) for an examination, he always studies in the reading-hall. [2,
c. 42 —-47],[3, c. 100 — 113]

9. While (correct) the students' test-papers, the teacher underlined the mistakes
with a red pencil. [2, c. 42 — 47], [3, c. 100 — 113]

10. (To correct) by the teacher regularly, the exercises are very useful to the
students. [2, c. 42 — 47], [3, c. 100 — 113]

11. (To correct) the test-papers, the teacher returned them to the students. [2,
c. 42 —47],[3, c. 100 — 113]

12.(To be corrected) by the teacher yesterday, the students' test-papers will be
returned to them today. [2, c. 42 —47], [3, c. 100 — 113]

13.(To hear) the sounds of music, they stopped talking. [2, c. 42 — 47], [3, c. 100 —
113]

14.This is a church (to build) many years ago. [2, c. 42 — 47], [3, ¢. 100 — 113]

B
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15.While (to examine), the boy could not help crying. [2, c. 42 — 47], [3, c. 100 —
113]

16.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, c. 100 — 113]

17.(To prescribe) the medicine, the doctor went away. [2, c. 42 — 47], [3, c. 100 —
113]

18.(To show) the wrong direction, the travelers soon lost their way. [2, c. 42 — 47],
[3, c. 100 — 113]

19.Time (to permit), we will go for a walk. [2, c. 42 — 47], [3, ¢. 100 — 113]

20.The treaty (to sign), trade was at once resumed. [2, c. 42 — 47], [3, c. 100 — 113]

21.The day (to be) finer and a little warmer than the previous one, he went out
again. [2, c. 42 - 47], [3, ¢. 100 — 113]

22.(Not to understand) the rule, he made many mistakes. [2, c. 42— 47], [3,
c. 100 — 113]

23.(To finish) the book, | had a holiday. [2, c. 42 — 47], [3, c. 100 — 113]

24.While (to understand) your problem, | don’t know how I can help. [2, c. 42 —
47], [3, c. 100 — 113]

25.(To find) only in the Andes, the plant is used by local people to treat skin
diseases. [2, c. 42 — 47], [3, c. 100 — 113]

26.(To wait) six weeks for the washing machine to be delivered, | decided to
cancel the order. [2, c. 42 — 47], [3, c. 100 — 113]

27.A line (to see) through this crystal looks double. [2, c. 42 — 47], [3, c. 100 —
113]

28.(To open) her eyes, the baby began to cry. [2, c. 42 — 47], [3, ¢. 100 — 113]

29.(Not to understand) the rules, | found the cricket match boring. [2, c. 42 — 47],
[3, c. 100 — 113]

30.(To be) unemployed, Ben spent a lot of time filling in job application forms. [2,
.42 —47],[3, c. 100 — 113]

31.(Not to hope) to be recognized, | chose a sit in a dark corner. [2, c. 42 — 47], [3,
c. 100 —113]

32.(To look) after carefully, this plant can live through the winter. [2, c. 42 — 47],
[3, c. 100 — 113]

33.Where is the boy (to throw) the stone? [2, c. 42 — 47], [3, ¢. 100 — 113]

34.There (to be) little time left, we took a taxi. [2, c. 42 — 47], [3, c. 100 — 113]

35.(To lose) the key, the boy couldn’t get into the house. [2, c. 42— 47], [3,
c. 100 —113]

36.Peter left the room (to say) that he was in a hurry. [2, c. 42 — 47], [3, ¢. 100 —
113]

37.(To think) that he was busy, | decided to call on him later. [2, c. 42 — 47], [3,
c. 100 —113]

38.(To graduate) from the university, | decided to return to my home city. [2,
.42 —47],[3, c. 100 — 113]
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39.When (to speak) English, pay more attention to the word order. [2, c. 42 — 47],
[3, c. 100 — 113]

40.(To run) across the field, I fell and hurt my ankle. [2, c. 42 — 47], [3, c. 100 —
113]

41.She stood silent, her lips (to press) together. [2, c. 42 — 47], [3, ¢. 100 — 113]

42.The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
.42 —47],[3, c. 100 — 113]

43.He picked up the (to break) pencil. [2, c. 42 — 47], [3, c. 100 — 113]

44 \WWe admired the stars (to twinkle) in the sky. [2, c. 42 — 47], [3, c. 100 — 113]

45.(To reach) the classroom, she became the object of many questions. [2, c. 42 —
47], [3, c. 100 — 113]

46.This was (to say) as if thinking aloud. [2, c. 42 — 47], [3, c. 100 — 113]

47.When (to question) Ann kept silence. [2, c. 42 — 47], [3, c. 100 — 113]

48.The bag was (to lose) yesterday. [2, c. 42 — 47], [3, c. 100 — 113]

49.The effect of her words was (to terrify). [2, c. 42 — 47], [3, c. 100 — 113]

50.We heard the wheels of the dog-cart (to crash) on the gravel of the drive. [2,
.42 —47],[3,c. 100 — 113]

51.She has found me (to unalter). [2, c. 42 — 47], [3, c. 100 — 113]

52.Presently other footsteps were heard (to cross) the room below. [2, c. 42 — 47],
[3, c. 100 — 113]

53.Generally (to speak), I don't like boys. [2, c. 42 — 47], [3, c. 100 — 113]

54.The taxi could be seen (to wait) outside. [2, c. 42 — 47], [3, c. 100 — 113]

55.She had (to draw) room decorated. [2, c. 42 — 47], [3, c. 100 — 113]

56.Get your things (to pack). [2, c. 42 — 47], [3, c. 100 — 113]

57.The two men were heard (to descend). [2, c. 42 — 47], [3, c. 100 — 113]

58.There was sunlight (to come) in through the shutters. [2, c. 42 — 47], [3, c. 100 —
113]

59.A cold wind swept the pavement, (to bear) a scrap of silver paper from a
chocolate box across the lamplight. [2, c. 42 — 47], [3, ¢. 100 — 113]

60.1 am going to Rome (to have) friends there. [2, c. 42 — 47], [3, c. 100 — 113]

[1, c. 66-67]
1. Fill the gaps:
The Grand Canyon

The Grand Canyon of the Colorado River is the largest gorge in the world-a
290-mile-long gash across the face of the Colorado Plateau in Arizona.
Rim to rim, it measures up to 18 miles across, with an average width of 10 miles;
its average depth is one mile. Within this Delaware-size area of eroded rock rise
mountains higher than any in the eastern United States and that dark walls of
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gorges of years old. Agent of this scene, the Colorado River drops

2,200 feet over nearly 200 rapids as it roars through the Canyon the Gulf
of California.
Numbers, though, tell only of the canyon's story and merely hint at

the magic of its myriad hues, strata, spires and gorges. The place is more than the

sum of its parts-so much more that neither the eye nor the mind of the beholder can
more than a small part of it at one time. As John Wesley Powell,

whose party in 1869 became the first to traverse the canyon by river, wrote, “You

cannot see the Grand Canyon in one view, as if it were a changeless

from which a curtain might be lifted.”

At the canyon's bottom, a mile below the rim, the Colorado River slices
through Granite. Gorge, some of the oldest rocks visible anywhere on the
earth. Nearly two billion years old, the Vishnu schist is the gleaming black

of a once towering mountain range. Some 500 million years after it

formed, vast rifting and faulting laid it down the tilted, sediments of the
Grand Canyon Series atop schist. Ten distinct layers of sandstone, limestone, and
shale bespeak the advance and retreat of seas, the building up and

wearing down of mountains, the meandering of rivers over 600 million years.

A) encompass, B) toward, C) remnant, D) spectacle, E) millions, F) colorful,
G) ancient, H) exposing, I) northern, J) part.

4.4. 'paMaTryH1 3aBJaHHS 10 MOIYJIHHOI KOHTPOJIBHOI poOoTH Moyt 3M-I18.

Module control work Ne8

[2, c. 59 - 60], [3, c.58 —60]

I. Grammar Test (The Conditional Sentences)

Put the right form of the verb in Conditional Sentences:

1. If I (to be free) tomorrow, I shall join you with pleasure. [2, c. 59 — 60], [3,
c. 58 — 60]

2. If your brother (to be) here now, he will be surprised at your behaviour and |
am sure he would not approve of it. [2, ¢. 59 — 60], [3, ¢.58 —60]

3. If we (to be) not writing this exercise now | should give you my pen. [2, c. 59 —
60], [3, c.58 —60]

4. If it (to be raining) now, the children would not be running about in the garden.
[2, c. 59 —60], [3, ¢.58 —60]

5. If the students (to work) regularly they will pass their exams. [2, c. 59 — 60], [3,
.58 —60]

6. | would come at once, if you (to be) really ill. [2, c. 59 — 60], [3, ¢.58 —60]
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7. If you I had met her 1 (to tell) her about it. [2, c. 59 — 60], [3, ¢.58 —60]

8. If I leave town | never (to tell) my people where | am going. [2, ¢. 59 — 60], [3,
.58 —60]

9. You will get good results if you (to apply) this method of calculation. [2, c. 59 —
60], [3, c.58 —60]

10.1f they (to find) the exact meanings of these words, they will understand the text
easily. [2, c. 59 — 60], [3, ¢.58 —60]

11.1f the wind (to be) favourable, the ship would reach the port of destination early
in the morning. [2, ¢. 59 - 60], [3, ¢.58 —60]

12.The results of the experiment (to be) much better if he had used the new
equipment. [2, c. 59 — 60], [3, ¢.58 —60]

13. (To be) the vapour cooled below its dew point, some of it would become
liquid. [2, ¢. 59 — 60], [3, ¢.58 —60]

14.Most lakes and rivers would dry up if they (to depend) solely upon precipitation
for their store water. [2, c. 59 — 60], [3, ¢.58 —60]

15.1f all the atmospheric moisture (to be) precipitated it would create a layer
averaging only one inch in depth over the entire globe. [2, c. 59 — 60], [3, ¢.58 —
60]

16.1f you (not to buy) coffee, we shall drink tea. [2, c. 59 — 60], [3, ¢.58 —60]

17.1f he is free tomorrow, he certainly (to come) to our party. [2, ¢c. 59 — 60], [3,
.58 —60]

18.My brother would not have missed so many lessons if he (not to hurt) his leg.
[2, c. 59 —60], [3, ¢.58 —60]

19.1f my friend (to work) in my office, we should meet every day. [2, c. 59 — 60],
[3, ¢.58 —60]

20.1f you spoke English every day, you (to improve) your language skills. [2, c. 59
—60], [3, ¢.58 —60]

21.1f you get a "five", your mother (to be) happy. [2, c. 59 — 60], [3, ¢.58 —60]

22.1f she (to return) earlier, she would have been able to see him before he left. [2,
c. 59 - 60], [3, c.58 —60]

23.1f these shoes were not too big for me, I (to buy) them. [2, ¢. 59 — 60], [3, ¢.58 —
60]

24.1f you (to ring) me up, | shall tell you a secret. [2, c. 59 — 60], [3, ¢.58 —60]

25.1f you (to be) a poet, you would write beautiful poetry. [2, c. 59 — 60], [3, ¢.58 —
60]

26.1f he did not read so much, he (not to know) English literature so well. [2, c. 59
—60], [3, ¢.58 —60]

27.1f he (to come) to our house yesterday, he would have met his friend. [2, ¢. 59 —
60], [3, c.58 —60]

28.1f he (not to pass) his examination, he will not get a scholarship. [2, ¢. 59 — 60],
[3, ¢.58 —60]

29.1f she (not to help) me, | should have been in a very difficult situation. [2, c. 59
—60], [3, ¢.58 —60]
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30.My father would have more free time if he (not to read) so many newspapers.
[2, c. 59 —60], [3, ¢.58 —60]
31.1f only you had let me know, | (to go) there immediately. [2, c. 59 — 60], [3,

.58 —60]

32.1f | were a famous singer, | (to get) a lot of flowers every day. [2, ¢. 59 — 60],
[3, c.58 —60]

33.1f my brother (to be) in trouble, I shall help him, of course. [2, ¢. 59 — 60], [3,
.58 —60]

34.1f | don't manage to finish my report today, | (to stay) at home tomorrow. [2, c.
59 —60], [3, ¢.58 —60]
35.1f she is more careful about her diet, she (not to be) so stout. [2, ¢. 59 — 60], [3,

.58 —60]

36.You would not feel so bad if you (not to smoke) too much. [2, ¢. 59 — 60], [3,
.58 —60]

37.1f he (to learn) the poem, he would not have got a bad mark. [2, c. 59 — 60], [3,
.58 —60]

38.1f you gave me your dictionary for a couple of days, | (to translate) this text. [2,
c. 59 -60], [3, ¢.58 —60]

39.1f | (to be) a musician, | should be very happy. [2, c. 59 — 60], [3, ¢.58 —60]

40.1f Barbara (to get) up at half past eight, B would have been late for school. [2, c.
59 - 60], [3, ¢.58 —60]

41.1f you had not put the cup on the edge of the table, it (not to break). [2, c. 59 —
60], [3, c.58 —60]

42.1 should be very glad if he (to come) my place. [2, ¢. 59 — 60], [3, ¢.58 —60]

43.1f he (to live) in Odessa, he would go to the sea every week. [2, c. 59 — 60], [3,
.58 —60]

44.1f you (to go) to the theatre with us last week, you would have enjoyed the
evening. [2, ¢. 59 — 60], [3, ¢.58 —60]

45.You won't understand the rule if you (not to listen) to the teacher. [2, c. 59 —
60], [3, ¢.58 —60]

46.1f he weren't such a bookworm, he (not to spend) so much time sitting in the
library. [2, c. 59 — 60], [3, ¢.58 —60]

47.1 should not have bought the car if my friend (not to lend) me money. [2, c. 59 —
60], [3, c.58 —60]

48.1f he did not live in Lviv, we (not to meet) so often. [2, c. 59 — 60], [3, ¢.58 —60]

49.1f he had warned me, | (to do) the work in time. [2, c. 59 — 60], [3, ¢.58 —60]

50.1f I (to have) this rare book, | should gladly lend it to you. [2, c. 59 — 60], [3,
.58 —60]

51.The dish would have been much more tasty if she (to be) a better cook. [2, c. 59
—60], [3, ¢.58 —60]

52.He never (to phone) you if | hadn't reminded him to do that. [2, ¢. 59 — 60], [3,
.58 —60]

53.Your brother (to become) much stronger if he took cold baths regularly. [2, c.
59 —60], [3, ¢.58 —60]

74



54.1f he (to be) more courageous, he would not be afraid. [2, c. 59 — 60], [3, ¢.58 —
60]

55.1f the fisherman had been less patient, he (not to catch) so much fish. [2, ¢. 59 —
60], [3, ¢.58 —60]

56.1f you (to put) the ice cream into the refrigerator, it would not have melted. [2,
c. 59 -60], [3, ¢.58 —60]

57.1f | (to know) the result now, | would phone her immediately. [2, ¢c. 59 — 60], [3,
.58 —60]

58.1f you had let me know yesterday, I (to bring) you my book. [2, c. 59 — 60], [3,
.58 —60]

59.1f it (to snow), the children will play snowballs. [2, ¢. 59 — 60], [3, ¢.58 —60]

60.1f I (not to know) English, 1 should not be able to enjoy Byron's poetry. [2, ¢. 59
—60], [3, ¢.58 —60]

[1, c. 81]
1. Fill the gaps:

Here we come to the important task for in social practice and, at the
same time, to the methodological problems arising in the preparation of such an
inter-disciplinary document. It is not only matter of a 'different language’ of
different scientific methods in individual disciplines, but it sometimes
the debate on the fundamental issues of the scientific work. When has an exact
scientist the right or the duty to come out of the shell of his narrow and countless
verified laboratory to take up an attitude to an issue which is only
vaguely related to his subject, and therefore only lends itself to a
analogy? And yet who has the right to derive such an analogy, if not the specialist
of the respective field?

Consequently, conflicts among specialists of the natural and
social sciences, where each is trying to impose the priorities of his viewpoint as the
‘nation-wide' interest. Another problem of such an interdisciplinary IS
the discussion between the analytics and synthetics in each individual scientific
discipline of groups. In social sciences as well there are experts,
specialized in some partial problems, who study the most minute details and, on
the other hand, there are also natural scientists with a broad ecological orientation
and an insight into scientific disciplines. The analytists reproach these
‘encyclopedists' for 'knowing nothing about everything, while the synthetists laugh
at the narrow specialists for 'knowing everything about nothing. The
goes as far as the issue of 'science an non-science, where only exact experimental
work as scientific, while its processing as a basis for decision-making
IS considered as non-scientific compilation.

A) experiment, B) both, C) occur, D) several, E) discussion, F) is considered,
G) concerns, H) science, |) cooperation, J) remote.
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4.5. 'pamaTuyHi 3aBJaHHS 10 MOAYJIbHOI KOHTPOJIBHOI poOoTH Moyist 3M-T19.

Module control work Ne9
[2,c.61-62], [3, c. 44 - 47]
I. Grammar Test (The Indirect speech)

Put the right form of the verb in the Indirect Speech:

=

| knew they (to wait) for me at the metro station and | decided to hurry. [2,

.61 —-62], [3, c. 44 — 47]

2. | didn't know that you already (to wind) up the clock. [2, c. 61 - 62], [3, c. 44 —
47]

3. | was afraid that the little girl (not to be) able to unlock the front door and (to

go) upstairs to help her. [2, c. 61 —62], [3, c. 44 — 47]

He says that he (to know) the laws of the country. [2, c. 61 — 62], [3, c. 44 — 47]

Sarie understood why Lanny (not to come) the previous evening. [2, c. 61 — 62],

[3, C. 44 — 47]

6. She asked me whether | (to remember) the legend about a faithful lion. [2,
.61 -62], [3, c. 44 — 47]

7. He understood that the soldiers (to arrest) him. [2, c. 61 — 62], [3, c. 44 — 47]

8. He could not understand why people (not to want) to take water from that well.
[2, c. 61 —62], [3, c. 44 — 47]

9. | suppose they (to send) a dog after the burglar immediately. [2, c. 61 — 62], [3,
c. 44 — 47]

10.He said he (to leave) tomorrow morning. [2, c. 61 — 62], [3, c. 44 — 47]

11.She says she already (to find) the book. [2, c. 61 — 62], [3, c. 44 — 47]

12.He stopped and listened: the clock (to strike) five. [2, c. 61 — 62], [3, c. 44 — 47]

13.She said she (can) not tell me the right time, her watch (to be) wrong. [2, c. 61 —
62], [3, c. 44 — 47]

14.1 asked my neighbour if he ever (to travel) by air before. [2, c. 61— 62], [3,
c. 44 — 47]

15.The policeman asked George where he (to run) so early. [2, c. 61— 62], [3,
c. 44 — 47]

16.The delegates were told that the guide just (to go) out and (to be) back in ten
minutes. [2, c. 61 — 62], [3, c. 44 — 47]

17.My friend asked me who (to play) the piano in the sitting room. [2, c. 61 — 62],
[3, C. 44 — 47]

18.He said he (to come) to the station to see me off. [2, c. 61 — 62], [3, c. 44 — 47]

19.1 was sure he (to post) the letter. [2, c. 61 — 62], [3, c. 44 — 47]

20.1 think the weather (to be) fine next week. [2, c. 61 — 62], [3, c. 44 — 47]

21.1 knew that he (to be) a very clever man. [2, c. 61 — 62], [3, c. 44 — 47]

22.1 want to know what he (to buy) for her birthday. [2, c. 61 — 62], [3, c. 44 — 47]
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23.1 asked my sister to tell me what she (to see) at the museum. [2, c. 61 — 62], [3,
C. 44 — 47]

24.He said he (to stay) at the "Ritz" Hotel. [2, c. 61 — 62], [3, c. 44 — 47]

25.They realized that they (to loose) their way in the dark. [2, c. 61— 62], [3,
C. 44 — 47]

26.He asked me where | (to study). [2, c. 61 — 62], [3, c. 44 — 47]

27.1 thought that I (to finish) my work at that time. [2, c. 61 — 62], [3, c. 44 — 47]

28.He says he (to work) at school two years ago. [2, c. 61 — 62], [3, c. 44 — 47]

29.Victor said he (to be) very busy. [2, c. 61 —62], [3, c. 44 — 47]

30.Tom said he (to go) to see the doctor the next day. [2, c. 61 — 62], [3, c. 44 — 47]

31.He told me he (to be) ill. [2, c. 61 — 62], [3, c. 44 — 47]

32.He told me he (to read) that book last week. [2, c. 61 —62], [3, c. 44 — 47]

33.They told me that Tom (not to come) to school the day before. [2, c. 61 — 62],
[3, c. 44 — 47]

34.1 told my sister that she (must) catch cold. [2, c. 61 — 62], [3, c. 44 — 47]

35.She told me she (to catch) cold. [2, c. 61 — 62], [3, c. 44 — 47]

36.He said that while crossing the English Channel they (to stay) on deck all the
time. [2, ¢c. 61 —62], [3, C. 44 — 47]

37.The woman said she (to feel) sick while crossing the Channel. [2, c. 61 — 62],
[3, C. 44 — 47]

38.She said she (to feel) bad that day. [2, c. 61 — 62], [3, c. 44 — 47]

39.The old man told the doctor that he (to have) pain in his right side. [2, c. 61 —
62], [3, c. 44 — 47]

40.He said he just (to be examined) by a good doctor. [2, c. 61— 62], [3, c. 44 —
47]

41.He said (not to come) to school until Monday. [2, c. 61 — 62], [3, c. 44 — 47]

42.The man said he (to spent) a month at a health resort. [2, c. 61 — 62], [3, c. 44 —
47]

43.He said that his health greatly (to improve) since then. [2, c. 61 —62], [3, c. 44 —
47]

44.She said that her brother (to play) chess with her grandfather. [2, c. 61 — 62], [3,
c. 44 — 47]

45.George said it (to be) very difficult to play that role. [2, c. 61 — 62], [3, c. 44 —
47]

46.He asked why there (to be) so few people in the street. [2, c. 61— 62], [3,
C. 44 — 47]

47.The man asked the boy if he (to know) where he lived. [2, c. 61— 62], [3,
Cc. 44 — 47]

48.The woman told him (not to worry) and go home quietly. [2, c. 61— 62], [3,
c. 44 — 47]

49.She said that she (to sleep) in the open air. [2, ¢c. 61 — 62], [3, c. 44 — 47]

50.She asked me why | (to tell) her the truth. [2, c. 61 — 62], [3, c. 44 — 47]

51.She asked me if I (to see) him before. [2, c. 61 — 62], [3, c. 44 — 47]
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52.She said that she (to come) and see us on Friday if that was all right. [2, c. 61 —
62], [3, c. 44 — 47]

53.She promised me that she (to finish) writing the report by the time you get here.
[2, c. 61 —62], [3, c. 44 — 47]

54.He agreed that it (to be) a very difficult time for all of them. [2, c. 61 — 62], [3,
C. 44 — 47]

55.He told me that I (to work) too hard and | (to take) more time off. [2, c. 61 —
62], [3, c. 44 — 47]

56.She said that her new computer (to make) a lot of difference to her. [2, c. 61 —
62], [3, c. 44 — 47]

57.He said he (to take) many photographs while travelling in the Caucasus. [2,
. 61—62], [3, c. 44 — 47]

58.He said that he (to come) to see us on Sunday. [2, c. 61 —62], [3, c. 44 — 47]

59.He said it (to do) him a lot of good. [2, c. 61 — 62], [3, c. 44 — 47]

60.He said he (to feel) better then. [2, c. 61 — 62], [3, c. 44 — 47]

[1, c. 92-93]

1. Fill the gaps:

Water in Ukraine is being used mainly inefficiently, non-productive
consumption of water increase volume of water resources to be used
decreases due to pollution and . Practically all surface water sources
and ground waters are polluted. Main substances, which cause pollution, —
compounds of nitrogen and phosphorus, , Which are exposed to
light oxidation, pesticides, oil products, heavy metals, phenols. Intensive
euthrofication of inland water bodies cause worsening of status of Black and Azov
seas.

By level of efficient of water resources and quality of water
Ukraine, according to UNESCO, takes 95-th position among 122 countries.

The system of state governance in the area of protection of waters
immediate reforming towards transfer to integrated management of water
resources. Functions of management in the are of protection, usage and restoration
of waters are allocated between different central executive authorities that result in
their overlapping, different of provisions of environment protection
legislation and inefficient usage of budget funds.

Drinkable water supply of Ukraine almost by 80 per cent by usage
of surface waters. Ecological status of surface water bodies and quality of water in
such bodies are the main factors of sanitary and epidemiological of
population. At the same time most of water bodies by level of pollution are
attributed to those, which are polluted and much polluted.
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Underground waters of Ukraine in many regions by their quality do not meet

the regulative to sources of water supply; it is related mainly to
anthropogenic pollution. Status of water supply to rural population is of a peculiar
concern as the centralized water supply only 25 per cent of rural

settlements of Ukraine.

A) usage, B) well-being, C) interpretation, D) organic substances, E) requirements,
F) covers, G) is ensured, H) suitable, I) requires, J) depletion.

4.6. I'pamaTuy4Hi 3aBIaHHS 10 MOJIYJIbHOI KOHTPOJIbHOI poOoT Moy 3M-IT10.

Module control work Nel0

[2, c. 51 —55], [3, ¢. 56 — 65]

I. Grammar Test (The Subjunctive Mood)

Put the right form of the verb in the Subjunctive mood. Revision:

1. The unfortunate pupil wished he (not to forget) to learn the rule. [2, c. 52 — 55],
[3, c. 61 —62].

2. | wish | (to have) a season ticket to the Philharmonic next winter. [2, ¢. 52 —
55], [3, ¢. 61 — 62].

3. | wish | (to consult) the teacher when | first felt that mathematics was too
difficult for me. [2, c. 52 — 55], [3, c. 61 — 62].

4. 1 love sunny weather. | wish it (to be) warm and fine all the year round. [2,
c. 52 -55], [3, c. 61 - 62].

5. I wish I (not to lend) Nick my watch: he has broken it. [2, c. 52 — 55], [3,
c. 61 -62].

6. | wish you (to send) word as soon as you arrive. [2, c. 52 — 55], [3, c. 61 — 62].

7. 'wish I (not to have) to do my homework every day. [2, ¢. 52 — 55], [3, ¢c. 61 —
62].

8. I wish you (to go) skiing with me yesterday: | had such a good time! [2, c. 52 —
55], [3, ¢. 61 — 62].

9. I'wish I (to know) Spanish. [2, c. 52 —55], [3, c. 61 — 62].

10.1 wish | (not to drink) so much coffee in the evening: | could not sleep half the
night. [2, ¢. 52 —55], [3, c. 61 — 62].

11.1 wish you (to read) more in future. [2, c. 52 — 55], [3, c. 61 — 62].

12.1 wish | never (to suggest) this idea. [2, c. 52 — 55], [3, c. 61 — 62].

13.1 wish I (to be) at yesterday's party: it must have been very merry. [2, c. 52 —
55], [3, c. 61 — 62].

14.1 wish we (to meet) again next summer. [2, c. 52 — 55], [3, c. 61 — 62].
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15.Don't you wish you (to see) that performance before? [2, c. 52 — 55], [3, c. 61 —
62].

16.They wished they (not to see) this horrible scene again. [2, c. 52 — 55], [3,
c. 61 -62].

17.1 wish | (can) give up smoking. [2, c. 52 — 55], [3, c. 61 — 62].

18.She wishes she (to see) him at yesterday's party. [2, c. 52 —55], [3, c. 61 — 62].

19.1 wish | (to pass) my driving test last Monday. [2, c. 52 — 55], [3, c. 61 — 62].

20.1 wish | (not to forget) my friend's birthday yesterday. [2, c. 52 — 55], [3, ¢. 61 —

62].

21.The boy is sad. He wishes he (not to break) the window. [2, c. 52 — 55], [3,
c. 61 —-62].

22.My aunt wishes she (to stay) at home last weekend. [2, c. 52 — 55], [3, c. 61 —
62].

23.He wishes he (to know) something about cars. [2, ¢. 52 — 55], [3, c. 61 — 62].

24.1 wish it (to be) sunny. [2, ¢c. 52 — 55], [3, c. 61 — 62].

25.1 wish it (to be) sunny during our picnic last Saturday. [2, c. 52 — 55], [3, ¢c. 61 —
62].

26.She wishes she (to live) in Kyiv. [2, ¢. 52 — 55], [3, c. 61 — 62].

27.My friend wishes he (not to do) that last night. [2, c. 52 — 55], [3, c. 61 — 62].

28.1 wish I (to bring) my camera last spring. [2, c. 52 — 55], [3, c. 61 — 62].

29.1 wish I (can) tell the future. [2, c. 52 —55], [3, c. 61 — 62].

30.Do you wish you (to be) in the Guinness Book of Records? [2, ¢. 52 — 55], [3,
c. 61 —62].

31.Some people wish they (can) appear on a TV game show and become famous.
[2, c. 52 — 55], [3, c. 61 — 62].

32.She often wishes things (to be) different. [2, c. 52 — 55], [3, c. 61 — 62].

33.1 wish | (to buy) that grey hat instead of this one. It was more expensive, but the
quality was much better. [2, c. 52 —55], [3, ¢. 61 — 62].

34.1t looks like raining, | wish we (to take) our umbrellas. [2, c. 52 — 55], [3,
c. 61 -62].

35.The child is crying, | wish | (to know) how to calm her. [2, c. 52 — 55], [3,
c. 61 -62].

36.1 wish you (to finish) your work already. We could go for a walk now. [2,
c. 52 —55], [3, c. 61 — 62].

37.1 wish I (to know) it was your favourite writer. 1 would have bought the book
for you. [2, c. 52 — 55], [3, ¢. 61 — 62].

38.1 wish I (to know) French. [2, c. 52 — 55], [3, c. 61 — 62].

39.She fell and broke her leg. | wish she (to be) more careful. [2, c. 52 — 55], [3,
c. 61 —62].

40.1 wish you (to read) more English books in future. [2, ¢c. 52 — 55], [3, c. 61 —
62].

41.1 feel sick. I wish | (not to eat) all the ice cream. [2, ¢. 52 — 55], [3, ¢. 61 — 62].

42.They need a singer for the choir. | wish | (can) sing. [2, ¢. 52— 55], [3, c. 61 —
62].
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43. | wish | (to look after) my parrot better. [2, c. 52 — 55], [3, c. 61 — 62].

44.1 can't remember her telephone number. | wish | (can). [2, c. 52— 55], [3,
c. 61 -62].

45.1 wish | (not to lend) him my car: he has broken it. [2, c. 52 — 55], [3, c. 61 —
62].

46.My watch has stopped. | wish | (to have) a better watch. [2, c. 52 — 55], [3,
c. 61 -62].

47.1 feel so tired. I wish I (not to stay up) so late last night. [2, c. 52 — 55], [3,
c. 61 —62].

48.My apartment is rather small. | wish | (to have) a bigger one. [2, c. 52 — 55], [3,
c. 61 —62].

49.1 wish | (not to spend) all my money last night. [2, c. 52 — 55], [3, c. 61 — 62].

50.1 wish I (to know) the answer to this question. [2, c. 52 — 55], [3, c. 61 — 62].

51.1 wish you (to phone) me yesterday. [2, c. 52 — 55], [3, ¢. 61 — 62].

52.1 wish I (to know) then what | know now. [2, c. 52 — 55], [3, c. 61 — 62].

53.1 wish you (to see) this film. | am sure you would like it. [2, c. 52 — 55], [3,
c. 61 -62].

54.1 wish you (to come) earlier. You should have gone to the museum together. [2,
c. 52 -55], [3, c. 61 - 62].

55.1 wish you (to have) time to read this article. Now you would able to answer all
the questions. [2, ¢. 52 — 55], [3, c. 61 — 62].

56.1 wish you (to see) my friend. [2, c. 52 — 55], [3, c. 61 — 62].

57.1 wish | (to know) where you are and what you are doing. [2, c. 52 — 55], [3,
c. 61 —62].

58.1 wish I (to be) only joking. [2, c. 52 — 55], [3, c. 61 — 62].

59.1 wish I (not to tell) you about it. [2, c. 52 — 55], [3, c. 61 — 62].

60.We all wished that we (to stop) there. [2, ¢c. 52 — 55], [3, c. 61 — 62].

[1, c. 102]

1. Fill the gaps:

Monitoring Land Water

The State Hydrometeorological Service (the Ministry of Emergencies)
monitors hydrochemical state of water 151 water bodies and carries out
hydrobiological at 45 water bodies. The data are collected on 46
parameters, which allow assessment of the chemical composition of water,
biogeneous parameters, presence of suspended and organic substances,
the main pollutants, heavy metals and pesticides. 8 water bodies are observed for
chronic toxicity of water. The indicators of contamination of surface
waters are also determined.
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The State Environmental Inspectorate (the Ministry of Environment)
a selective sampling and obtains data on more than 65 parameters that
are measured.

The State Committee for Water Management monitors rivers, reservoirs,
canals, and pieces of water within multi-purpose water resources
utilization systems, water supply systems, trans-border watercourses and reservoirs
in zones around nuclear power plants. Water quality is monitored using physical
and chemical parameters for 72 reservoirs, 164 rivers, 14 irrigation systems, 1 firth
and 5 multi-purpose channels. In addition, as a part of radioactive monitoring,
water management organizations monitor of radio nuclides in surface
waters.

The Sanitary and Epidemiological Service (the Ministry of Health) carries out
observations over the sources of centralized and decentralized drinking water
supply and recreation sites along and reservoirs.

The enterprises of the State Geological Survey (the Ministry of Environment)
monitor the state of groundwater. In the places of monitoring, the level of
groundwater (occurrence), its natural geochemical composition is assessed. 22
parameters, heavy metals and pesticides concentration are determined.

The Sanitary and Epidemiological Service (the Ministry of Health) provides

analysis of groundwater intended for drinking

A) irrigation systems, B) rivers, C) consumption, D) including, E) the amount, F)
chemical, G) observations, H) provides, 1) particles, J) radioactive.

4.7. 3aBAaHHS 10 iCIIUTY.

1 3aBmaHHA
Grammar Test

. Insert the proper form of the verb:
. He seems (to work) much. [2, c. 38-42], [3, c. 85-100]
. He is reported (to write) a new novel. [2, c. 38-42], [3, c. 85-100]
. She ought (to tell) the truth. [2, c. 38-42], [3, c. 85-100]
. This house seems ( to rebuild) already. [2, c. 38-42], [3, c. 85-100]
. I don’t (to understand) this text. [2, ¢. 38-42], [3, c. 85-100]
. | happened (to ask) her about you when you came in. [2, c. 38-42], [3, c. 85-100]
. He seems (to know) wrong adress. [2, c. 38-42], [3, c. 85-100]
. If you lent me your bag, | (to go) shopping. [2, c. 38-42], [3, c. 85-100]
. 'You could (to ask) me first. [2, c. 38-42], [3, c. 85-100]
10. I am expecting (to give) a pay-rise next month. [2, c. 38-42], [3, c. 85-100]

11. Where is the girl (to read) the book? [2, ¢.42-47], [ 3, c. 100-113]
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12. There (to be) little time left, we took a taxi. [2, ¢.42-47], [ 3, c. 100-113]

13. (To lose) the key, the boy couldn't get into the house. [2, ¢.42-47], [ 3, c. 100-
113]

14. Peter left the room (to say) that he was in a hurry. [2, ¢.42-47], [ 3, c. 100-113]

15. (To think) that he was busy, | decided to call on him later. [2, c.42-47], [ 3, c.
100-113]

16. (To graduate) from the university, | decided to return to my home city. [2, c.42-
47],[ 3, c. 100-113]

17. When (to speak) English, pay more attention to the word order. [2, c.42-47], [
3, ¢. 100-113]

18. (To run) across the field, | fell and hurt my ankle. [2, ¢.42-47], [ 3, c. 100-113]
19. She stood silent, her hands (to press) together. [2, ¢.42-47], [ 3, c. 100-113]

20. The moonlit road was empty, with the cool wind (to blow) in their faces. [2,
c.42-47], [ 3, c. 100-113]

21. He has no right to come bothering you and your father without (to invite). [2,
c.42-47], [ 3, c. 100-113]

22. Tom went on (to whitewash). [2, c. 47-50], [3, c. 113-123]

23. He did not remember (to see) in that room. [2, c. 47-50], [3, c. 113-123]

24. The child deserves (to praise). [2, c. 47-50], [3, c. 113-123]

25) It looks like (to rain). [2, c. 47-50], [3, c. 113-123]

26. | hope you will forgive me (to disturb) you. [2, c. 47-50], [3, c. 113-123]
27. | said something about my clock (to be) slow. [2, c. 47-50], [3, c. 113-123]
28. | do not remember (to hear) the legend before. [2, c. 47-50], [3, c. 113-123]

29. Are you quite sure of those words ( to refer) to my brother? [2, c. 47-50], [3,
c. 113-123]

30. Do not forget (to shut) the windows when you leave home. [2, c. 47-50], [3,
c. 113-123]

31. If you (to go) to Paris you’ll see the Eiffel tower. [2, ¢. 59-60], [3, c. 55-60]
32. What (to do) if you (to find) a treasure? [2, c. 59-60], [3, c. 55-60]

33. If | (to know) you are coming I won’t leave the house. [2, ¢. 59-60], [3, c. 55-
60]

34.1f | (to have) a big house, I (to invite) friends. [2, c. 59-60], [3, c. 55-60]

35. He (to understand) the message if he knew Spanish. [2, ¢. 59-60], [3, c. 55-60]
36. If the weather (to be) fine, we will celebrate your birthday outside. [2, c. 59-
60], [3, c. 55-60]
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37. The parents (to let) me go to the South if | passed exams well. [2, c. 59-60],
[3, c. 55-60]

38. | (to find) those types of papers if | had a little bit more time. [2, c. 59-60],
[3, c. 55-60]

39. If we (to close) the window yesterday, it would not have been so cold in here.
[2, c. 59-60], [3, c. 55-60]

40. If the lady had not stopped the boy, he ( to run) into the van. [2, c. 59-60],
[3, c. 55-60]

41. The dog (not to attack) you if you hadn't teased him. [2, ¢. 59-60], [3, c. 55-60]

42. If they (to buy) a new tent, they might not have got wet during the night. [2,
c. 59-60], [3, c. 55-60]

43. You (not to ask) many questions tomorrow. [2, ¢.32-33], [3, c. 47-55]

44. This book (to look for) everywhere. [2, ¢.32-33], [3, . 47-55]

45. She (to choose) the best actress of this year. [2, ¢.32-33], [3, c. 47-55]

46. She (to help) with the housework now. [2, ¢.32-33], [3, c. 47-55]

47. The fence (to paint) by the end of next week. [2, ¢.32-33], [3, c. 47-55]

48. They often (to laugh) at. [2, ¢.32-33], [3, c. 47-55]

49. These plants ( to water) before | came. [2, ¢.32-33], [3, c. 47-55]

50. The logs (to cut) too long for our fireplace yesterday. [2, ¢.32-33], [3, c. 47-55]

2 3aBIaHHS

I1. Translate and put 5 questions to the text.

In a democratic country like Great Britain the press, ideally, has three
political functions: information, discussion and representation. It is supposed to
give the voter reliable and complete information on which to base his judgement, it
should let him know the arguments for and against any policy, and it should reflect
and give voice to the desires of the people as a whole. Naturally, there is no
censorship in Great Britain, but in 1953 the Press Council was set up. It is not an
official body but it is composed of people nominated by journalists, and it receives
complaints against particular newspapers. It may make reports which criticize

papers, but its reports have no direct effect.

84



The British press means, primarily, a group of daily and Sunday newspapers
published in London. They are most important and known as national in the sense
of circulating throughout the British Isles. All the national newspapers have their
central offices in London, but those with big circulations also print editions in

Manchester (the second largest press centre in Britain) and Glasgow in Scotland.

3 3aBHaHHA
I11. a) Translate the text and entitle it

b) Give a brief summary of the text (not more than 3 sentences)

But the best-known among the British national quality newspapers are as

follows.

“The Times” (1785) is called the paper of the Establishment. Politically it is
independent, but is generally inclined to be sympathetic to the Conservative party.
It’s not a governmental organ, though very often its leading articles may be written
after private consultation with people in the government. It has a reputation for
extreme caution, though it has always been a symbol of solidity in Britain. Its
reporting is noted for reliability and completeness and especially in foreign affairs.
Its reputation for reflecting or even anticipating government policy gives it an

almost official tone.

“The Guardian” (until 1959 — “Manchester Guardian) has become a truly
national paper rather than one specially connected with Manchester. In quality,
style and reporting it is nearly equal with “The Times”. In politics it is described as
“radical”. It was favourable to the Liberal party and tends to be rather closer in
sympathy to the Labour party than to the Conservatives. It has made great progress
during the past years, particularly among intelligent people who find “The Times”

too uncritical of the Establishment.

“The Daily Telegraph™ (1855) is the quality paper with the largest

circulation (1.2 million compared with “The Times’s” 442 thousand and “The

85



Guardian’s” 500 thousand). In theory it is independent, but in practice it is an
orthodox Conservative paper and as such caters for the educated and semi-
educated business and professional classes. Being well produced and edited it is
full of various information and belongs to the same class of journalism as “The

Times” and “The Guardian”.

I\V. Write about “My scientific interests” (15 sentences)

5. JUTEPATYPA IS BUBYEHHA JUCHUIIJITHA

OcHOBHA

1. MertoauyHi BKa31BKH JJIs MPAKTUYHOT pOOOTH 3 AUCHUILTIHM «[HO3eMHa MOBa
3a mpodeciiiHuM CcHpsIMyBaHHSIM» JJisi MarictpiB 1 Kypcy JeHHOi ¢opMmu
HaBuYaHHA. PiBeHb MiAroTOBKM Marictp, HampsiM MiJITOTOBKH — YC1 HAMPSIMH.
VYxmamau: IT'saosa L.IO. -k.¢d.H., nouenT -Oneca, OJJEKY, 2016. - 115 ¢. —
AHTJI. MOBOIO.

2. MeroandHi BKa3iBKM 3 TpaMaTWKU aHTIIACBKOI MoBHM mjsi cryaeHtiB |, 1l
Kypcy JAeHHOi ¢opmu HaByaHHsA. Hampsm DiArOTOBKM — yCi HalpsIMKH.
VYxnanauai: [T'saoBa LIO. — x.¢.H., nouent, llloroBa-Hikonenko I'.B. — x.¢.H.,
noueHt — Opaeca: OAEKY, 2009. — 72c.

3. Bep6aTl'. B., Bep6a JI. I'. JloBigHuK 3 TpaMaTUKH aHTIiIHChKOI MOBH: JIOBiJK.
Bua. — 3-te Bua. — K.: Ocsita, 1993. — 320 c.

4. HaByanpbHMI TOCIOHMK 3 TpaMaTHKW aHTJIINACBKOI MOBHM ISl MaricTpiB Ta
acmipanTiB. HanpsiMok miiroToBku - yci Hanpsimu. Ykiagadi: [1'saosa LIO. -
K.g.H., monenr, Illa6mit O.B. - cr. Bukmamaa — Opeca, OJIEKY, 2006. —
425 c. — Anri. ta YKp. MOBOIO.

5. HaByanbHmii mOCIOHMK 3 TpaMaTUKH aHTIiAChkoi MoBH: HaBuanbHWMIA
nocionuk. Ykmnagad: Illotoa-Hikonenko I'.B. — k.¢d.H., goment. — Opeca:
BupaBunuuii gim «I'eabpBeTukay, 2020. — 192 ¢. — AHIJI. MOBOIO.

JomarkoBa Jiteparypa

6. MeroanuHi BKa3IBKM 3 aHMIIMCHKOI MOBM AJiA CTYJEHTIB V Kypcy. PiBeHb
niarotoBku Marictp, Hamnpsam miarotropku — «Exonoris» (IX cemectp).
VYxnamaui: I1'saoBa 1IO. -k.d.H., gouent, [la6mit O.B. - cr. Buknagay -
Oupneca, OEKY, 2006. — 58 c. — Auri. MmoBo1o.

7. The Oxford Russian Dictionary. Revised Edition. - Oxford, Oxford University
Press, 1997,- 1340 p.

86



8. bouk H.A., Kotuii I'.A., JlykessHoBa H.A. YueOHMK aHTTTUHCKOTO s3bIKa. B 2-
x T. - M: ToBapumectso "/lekont", 1994.

9. Jlyoposun M.U. Situational Grammar. -M.: "IIpocBenienune", 1986. -416 c.

10.KaganoB K.H., U3paunesuu E.E. [IpakTtudeckass rpaMMaTvuka aHTIHICKOTO
s3pika. B 2-x 1. T.2. - K.: "Meroauka", 1995. - 304 c.

11.Kmoy3s P.A. Reference Grammar for students of English. - M:
"[Ipoceemenue”, 1979 -352 c.

12. Xopubu A.C. Konctpykuuu u 060poThl aHTIUHCKOrO si3biKa. - M.: "bykier",
1994.-336 c.

13.1llax-Hazaposa B.C., XKypaBuenko K.B. Aurnmiickuii qyis Bac: B 2-X dacTsx.
-Kummnes: "Jlymuna", 1992.-653 c.

14.Hornby A.S. Oxford Advanced Learner's Dictionary of Current English. -
Oxford University Press, 1974. - 1035 p.

15.Murphy R. Essential Grammar in Use. A selfstudy reference and practice
book for elementary students of English. - Cambridge: University press, 1990.
-254 p.

16.Murphy R. Essential Grammar in Use. A selfstudy reference and practice
book for intermediate students of English. - Cambridge.'University press,
1988. -272 p.

17.Enextponna aapeca 6i6miorexu OJIEKY library@odeku.edu.ua

18.EnexTponHna aapeca pernosutapito OJIEKY http://eprints.library.odeku.edu.ua

19.EnexTponHa aapeca kadenpu inozemenux Mo OJIEKY lang@odeku.edu.ua

20.HarmionanpHi Ta 1HO3eMHI IHTEepHET- Ta JpPyKOBaHI MEpPIOJWYHI BUIAHHS
aHTJIICHKOI0 MOBOIO.

87


mailto:library@odeku.edu.ua
http://eprints.library.odeku.edu.ua/
mailto:lang@odeku.edu.ua

